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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271729
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592729089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out the next term.

2Y5, 2T0, 105,

Options:

1. = 1P6
2. v 1J0
3. % 1R8
4. % 189

Question Number : 1 Question Id : 54592729089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HITelT Ug ATT h |

2Y5, 270, 105,

Options:

1. = 1P6
2. v 1J0
3. = 1R8
4. = 159

Question Number : 2 Question Id : 54592729090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the wrong term in the series?

7N, 10T, 4H, 9Q)
Options:

1. = 7N
2. % 10T
3. v 9Q
4.« 4H

Question Number : 2 Question Id : 54592729090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H Teld T Tl ?
/N, 10T, 4H, 9Q

Options:

1. = 7N
2. = 10T
3. v 9Q
4. = 4H

Question Number : 3 Question Id : 54592729091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If letters in the word ‘SEASONED’ are replaced by its next
letter in the English alphabet then how many vowel are still
there in the word?

Options:

1. = One
2. v Two
3. = Three
4, = Four



Question Number : 3 Question Id : 54592729091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg SEASONED ’efsg & 3187l sl 373aiT guTHTT & 3T
3Tel 378 & &3l 3T ST & ar T Y e 7 Torge TaT &7

Options:

1. = Ush
2. v @
3. = dral
4. = T

Question Number : 4 Question Id : 54592729092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. v Basketball
2. » Hockey

3. = Football
4. = Cricket

Question Number : 4 Question Id : 54592729092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v &reul A O BYA AT

Options:

1. v STEhcdidl

2. = BIehT

3. * thedlel
4. = Tehehe

Question Number : 5 Question Id : 54592729093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.



Options:

1. = KIG
2. % SQ0
3.+ OPL
4. = ECA

Question Number : 5 Question Id : 54592729093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 el @ fHea w1 |

Options:

1. = KIG
2. = SQO
3. v OPL
4. = ECA

Question Number : 6 Question Id : 54592729094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. = NS : NQ
2.+ CH: CE
3. PU: PS
4. » WB: WZ

Question Number : 6 Question Id : 54592729094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 fasvedl # & fawHm S 0]

Options:

1. = NS : NQ
2. v CH : CE




3. = PU: PS
4. = WB: W/

Question Number : 7 Question Id : 54592729095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

PAINTING : ARTIST :: Cook :

Options:

1. = Singer

2. % Music
3. » Novel
4, v Meal

Question Number : 7 Question Id : 54592729095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT wed A U a0 [@redl # O gFeieud
IET/LASS/TEAT <h g’i'oﬁul

IEEIGGIE I RS SIS
Options:

1. = 9MMTh
2. = @Il
3. ® 3UcATH
4. v ToTel

Question Number : 8 Question Id : 54592729096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the related
letter/word/number from the given alternatives.

Day : Night ::
Options:

1. = Dim: Weak

2. v Flexible: Stiff

3. » Valiant : mighty

4. = Enhance : Improve

Question Number : 8 Question Id : 54592729096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

feeT : TT =
Options:

1. » HE: FHIN

2. v o=l FaR

3. » Heddld: q{Tshd |

4. = gi& FLaT: AT

o

Question Number : 9 Question Id : 54592729097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

GU: R
Options:

1. » AC: EP



2.« BG:KZ
3. JZ LG
4. v HX : EO

Question Number : 9 Question Id : 54592729097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaIToad wed A, U 910 Thedl # & FaATUT 3T / ereg /
HEAT T V|

GU : FR =
Options:

1. = AC : EP
2. = BG : KZ
3. = JZ : LG
4. v HX : EO

Question Number : 10 Question Id : 54592729098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 'keyboard’ is called 'ink pot’, 'ink pot’ is called 'window’,’
window’ is called 'cover’, 'cover’ is called 'door’, 'door’ is called
'fan’, 'fan’ is called 'computer’ and 'computer’ is called
'printer’, which of the following is used for typing?

Options:

1. = Keyboard
2. v Ink pot

3. » Window
4. = Fan

Question Number : 10 Question Id : 54592729098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



I 'HIEE F 'Sk gic, Tk Uie’ H TRSHT KT ST g, ar
'ThghT T 'hal, HaL ‘HT '@, @el HOUET, 9= HY
FYT 3N 'FYET FT T FgT ST §, s & O
foear & | forderr 3uAler foram ST 87

Options:

1. = FrEE

2. v 3% Tic
3. » TEIsH
4. = TET

Question Number : 11 Question Id : 54592729099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language,’'shi fr pof’ means 'Sunrises in east’,
"pof mir ot’ means 'Health in diet’ and 'shi gov om’ means
'walk east morning’. Which of the following means 'Sunrises’
in that language?

Options:

1. = shi

2. = pof

3.v1r

4. » Either fr or shi

Question Number : 11 Question Id : 54592729099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U TATRET Fe AT A, ‘shi fr pof FT 31T § 'Sunrises in
East', 'pof mir ot T 377 & 'Health in diet ' 31X 'shi gov om'
T 3797 'walk east morning' &1 feeateli@ad & & foRgeRr ameT
e ATST A 'Sunrises' §7

Options:



1. = shi
2. = pof

3. v fr

4, = IT AT fr AT shi

Question Number : 12 Question Id : 54592729100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, a group of letters is given which are
numbered 1, 2, 3, 4, 5 and 6. Below are given four alternatives
containing combinations of these numbers. Select that
combination of numbers so that letters arranged accordingly,
form a meaningful word.

ONIJAD
123456

Options:

1.4,6,3,5,2,1
2.v5,6,4,1, 3,2
3.%4,0,5,2,3,1
4 %5,2,3,1,6,4

Question Number : 12 Question Id : 54592729100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafafaa wear &, 3&RT #1 v @ag far o &, g8 1,
2,3, 4, 5 3t 6 1 Rw 717 &, 37 g3t & Al gl
IR [@Feq U 710 & §@IT3 & 39 IS T I

iR 378 & 3e[AN SYAEAd &I, Uk HTF 2Ieg T |

ONIJAD
123456

Options:

1. = 4,6, 3, 5, 2, 1
2.v 5,6, 4,1, 3, 2
3. = 4,6,5, 2 3,1
4. = 5, 2,3, 1,6, 4

Question Number : 13 Question Id : 54592729101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

P,Q,R, S, Tand U are sitting in a circle facing the centre. S is
between U and Q. P is second to the left of S and second to the
right of T, but third left of Q.

Who is facing P?

Options:

1.vQ
2.%§

3.+«T
4. % R

Question Number : 13 Question Id : 54592729101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



P, Q, R, S, T 3t U ok ged & INT 3T Fhog 1 3 7@
FH TSI S, U QF g ASereg: P, SHamwd
gHY TATT W ST § 3 T & W & gEY ATl W olfehe Q &
S § e T 9T ST ¢

forerehT 7z P T 3T &7

Options:

1. v Q
2. = S
3.0« T
4. = R

Question Number : 14 Question Id : 54592729102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a groups of 5 friends P, Q, R, S, and T. P is taller than S, R is
not taller than T, Q is taller than T and R. S is not taller than
T. If it is known that no two of the friends are of the same
height, then who among them is that tallest?

Options:

1. =P
2.5 Q)
3. R
4. v Cannot be determined

Question Number : 14 Question Id : 54592729102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



P, QR S3RT, 5 FFAg A P, ST TG R, T
GoFmag g, QPITIETETATS, T F oeaT gl gl I
Tg AT & ToF 2 SEal T IS THT 6l &, d9 398 O

oy ofFaT hid &7

Options:

1. = P
2. = Q
3. = R
4. v AT A8l hAT ST el

Question Number : 15 Question Id : 54592729103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six persons A, B, C, D, E, and F each are of different height, are
comparing their heights. A is taller than D, but shorter than F.
C is shorter than E and taller than B, who is taller than F.
Who among the following is the shortest?

Options:

1. = A
2. % B
3.5 C
4.vD

Question Number : 15 Question Id : 54592729103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S8 Aiad A, B, C, D, E, 3 F Ucds 3Te91-376l4T olFdls
g, 3eTeh] olFaTS ol Jofell T 8 &1 A , D & 319 oaT §,
difad FA BT C Ed BT g3dNBAAargBIF &
T & foesTieli@d & & i gad BT &7

Options:




1. = A
2. » B
3. = C
4. v D

Question Number : 16 Question Id : 54592729104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From a group of six Men A, B, C, D, E, F and five ladies X, W, V,
Y, Z; a team of six is to be selected. Some of the criteria of
selection are as follows:

D and E have to be selected together.
Z and F should be selected together.
C cannot be selected with B.

V cannot be selected with Y.

B will be selected with W.

A and Y will be selected together.

If the team consists of only two ladies and V is one of them,
the other members are-

Options:

1. » XAFDE
2. v ZCDEF
3. = WBCDE
4. » ZFABD

Question Number : 16 Question Id : 54592729104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



G5k A, B C, D, E 3RF g astear X, W, V,Y, Z
* THE H & & o9l 1 Uk A FT AT Brell &1 Ield T
eT ToioeT &:

D 3 E T Uk @I el G|

Z 3T F T U A1 T STl ARV
C &I B s &1 ol I ST Hehl &
V ®IY & A @ el ST Rl &
B T W & @1 AT STV

A 3R Y FT U T AT ST

IE STH A Fhgel &F AfgaT & 3T V 38 @ U g, ar 379
5T g-

1. = XAFDE
2. v ZCDEF
3. = WBCDE
4. = ZFABD

Question Number : 17 Question Id : 54592729105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Raghu is the brother of Amar. Sonam is the sister of Sumeet.
Amar is the son of Sonam. How is Raghu related to Sumeet?

Options:

1. = son
2. » brother
3. » father



4, v nephew

Question Number : 17 Question Id : 54592729105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T, (AT T A T A, AT FT T8 &1 A, TFH FT
9 &l T, AT § FH gEEd &7

Options:

Question Number : 18 Question Id : 54592729106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question given below, there are given two statements
followed by four conclusions numbered LILIII and IV. You
have to take the given statements to be true even if they seem
to be at variance from commonly known facts. Read both the
conclusions and then decide which of the given conclusions
logically follows from the given statement disregarding
commonly known facts.

Statements:
I. Only Hindus are Jains.
II. Only Sikhs are Hindus.

Conclusions:

I. All Jains are Hindus.

II. Some Jains are Hindus.
III. All Jains are Sikhs.

IV. All Sikhs are Jains.

Options:

1. = Only I and III follow

2. = Only I and IV follow

3. = Either I or II and III follow
4. « 1, II and III follow

Question Number : 18 Question Id : 54592729106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ard BT 90 woad H S FU«T 3T 39 §€ I @y |, 1,
AT IV U 31 &1 39eRT €U 9T AT I G Al &, Heol
2 T AT aedt @ @iee e g @l fasewt wr gfew i
R o fifae F v 71w eyt #§ O Flia-ar Ty e aw
RYAT FT dTfeheh FT H 3ELOT FIAT &, 9l & I§ T A
a2y 8 e &l

h o]
. oo TEeq, Siel gl
I. Foe @, feeg 8

IGLE b

. |8 S, fgeg 8
I ¥ SfeT, Tgoq &l
1. sl o=, ™3 g
V. T &, e g

Options:

1. = shadl | 3 |l 3Te[EIoT FIAT &

2. % ael | 3 IV 3HeTaETor =

3.« I Al | Ar Il 3 Il 3Eor i 8
4. v 1, 11 3 I 37eEor Y &

Question Number : 19 Question Id : 54592729107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, there is a statement followed by
two courses of action, numbered I and II. You have to assume
everything in the statement to be true to decide which of the
two suggested courses of action logically follows for pursuing.

Statement:
I. The rape cases are increasing in India.

Course of actions:
I. Girls should be stopped from wearing jeans.
II. Girls should not he allowed to leave houses after 6 PM.

Options:

1. = Only I follows

2. = Only II follows

3. = Either I or II follows

4. v Neither I nor II follows

Question Number : 19 Question Id : 54592729107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T ued AU FUT & &g g g | 3T 1| &
3TIRT ST FUeT I Tcd ATl FT dF Flell & T o =T T
FRdle # & Hhid AT drfehes §T & Tl &l

Fq:
. IRT H FollchR & ATH 3¢ 18 &

FRIGTET:
. IETRaT T ST Ugada & Jehl SITelT ATev|

|. oTTH 6 For & §IC oIShAl ol TO¥ & FIEL oTal foicholel ol
Snrya

Options:

1. = shael | 3eEROT FIAT g

2. » gl || TFTEIOT FIAT &

3. % I AT | AT Il 3HTEIOT HFTAT &

4. v o A | 3R Er |l TET0T FIAT &

Question Number : 20 Question Id : 54592729108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following series.

24, 38, 66, 108, 164, ?

Options:

1.+ 234
2. % 238
3. % 228
4. % 236



Question Number : 20 Question Id : 54592729108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl =T el 1 1 L

24, 38, 66, 108, 164, ?

Options:

1. v 234
2. = 238
3. % 228
4. = 236

Mental Ability?2

Group Number : 2
Group Id: 5459271442
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 5459271442

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1

Sub-Section 1d: 5459271730



Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592729109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

10, 13, 18, 24, 34

Options:

1. = 10
2. %13
3.% 18
4. v 24

Question Number : 21 Question Id : 54592729109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&r % AT H I R Flor:

10, 13, 18, 24, 34

Options:

1. = 10
2. % 13
3. % 18
4. v 24

Question Number : 22 Question Id : 54592729110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1. =1
2.v 55
3. = 16



4 %4

Question Number : 22 Question Id : 54592729110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w av Jreul & O fHea {-i{se.uslfr?:lﬁl

Options:

1. % 1
2. v 55
3. % 16
4. = 4

Question Number : 23 Question Id : 54592729111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in each of the following
questions:

Options:

1. = 72,81
2. % 144, 156
3. % 54,63
4.v 45, 24

Question Number : 23 Question Id : 54592729111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ul Toeifal@a wesll # fava wEar arel I98 / dAg HI
gJiaAv:

fa
Options:

1. = 72, 81
2. = 144, 156
3. = 54, 63
4. v 45, 24




Question Number : 24 Question Id : 54592729112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in each of the following

questions:
Options:
1. 24:48:36

2.%32:064:48
3.%306:72:54
4.+51:68:34

Question Number : 24 Question Id : 54592729112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ucdsh feirafeli@d ueal & favA7 §&am drel I9A7 / THE H
S LS

O
Options:

1. = 24 : 48 : 36
2. » 32 :64: 48
3. = 36 :72:54
4. v 51 : 68 : 34

Question Number : 25 Question Id : 54592729113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

(21, 34, 56)

Options:

1. = (21, 34, 58)
2. » {33, 36, 44)
3. % (31, 32, 45)



4. » (29, 36, 46)

Question Number : 25 Question Id : 54592729113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFafa@a med A U a0 [@oredl # O gFaiedd
IET/LASS/TEAT <h g’i'oﬁul

(21, 34, 56)

Options:

1. = (21, 34, 58)
2. = (33, 36, 44)
3. = (31, 32, 45)
4. v (29, 36, 46)

Question Number : 26 Question Id : 54592729114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the missing number from, the given responses.

43 | 25 ?

21 40 | 35

35 | 34 | 28

Options:

1. v 36
2. % 46
3. % 56
4. % 40

Question Number : 26 Question Id : 54592729114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT TGAT ATT 2

43 | 25 ?

21 40 | 35

35 | 34 | 28

Options:

1. v 36
2. = 46
3. = 56
4. = 40

Question Number : 27 Question Id : 54592729115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A stands for “+°, B stands for -, C stands for ‘<’, what is the
value of:

(25C2)A(25C1)B257

Options:

1. = 46
2.v 50
3. % 56
4. % 60

Question Number : 27 Question Id : 54592729115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AR HT L BRIHT -, CH 3T * x ' ar (25 C
2) A (25 C 1) B 25 T AT AT FI?

Options:

1. = 46




2. v 50
3. = 56
4. = 60

Question Number : 28 Question Id : 54592729116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
. G<R=xI=N

Conclusions:
I. G<N
I. N=R

Options:

1. = Neither conclusion I nor conclusion II is true
2. » Either conclusion I or II is true

3. » Only conclusion II is true

4. v Only conclusion I is true

Question Number : 28 Question Id : 54592729116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SR fRw aTe et H, U FU F 1 oy fovw§ | ey fou
AT HU Pl oI Al &, Hol &I T JH dX W AT T4 +
gre faeRor s & AN e au Y Tk fqu a0 v 7 &

Flel AT fAshy TTfoheh T F 3HTEIOT FIAT B

. G < N
. N =R

Options:

1.« o ar fasewd | 3R 7 & forssed || &7 &
2.« T A Torsany | AT Il T &
3. = Hhael oy || OcT &

4. v hael @y | §cT &

Question Number : 29 Question Id : 54592729117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

4,10, 22, 46, 93

Options:

1.+ 93
2. % 40
3. % 22
4. % 10



Question Number : 29 Question Id : 54592729117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&T 35 e H T 9§ AT

4, 10, 22, 46, 93

Options:

1. v 93
2. % 46
3. = 22
4. = 10

Question Number : 30 Question Id : 54592729118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among State, Village and District?

Options:

1. v

..QO0



4. =

Question Number : 30 Question Id : 54592729118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fafe™@a # @ i a1 =™ Us, g MY e & a9 g8y
T gfaTaTaca ar &7

Options:

..QC

Question Number : 31 Question Id : 54592729119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following characters represent the set of bangles
and necklaces, but not the ring?

Bangle

MNecklace

Options:

1. = h
2. %1
3.v]
4 %1

Question Number : 31 Question Id : 54592729119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl # & la a7 38R 31 3T g & 8¢ 1
UTdfefdca Tar § oifshel 37ST &1 817

i Lo
Jayct gel

Options:

1. = h
2. ®n
3. v |



4. = |

Question Number : 32 Question Id : 54592729120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

Problem Figures
1 2 3 4
Options:

A
"o

3.

&

Question Number : 32 Question Id : 54592729120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 54592729121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Complete the series by choosing right figure from the given
choices.

Zo| oL | & | 7

(a) (b) (c) (d)




Options:

1. =

N

s

Question Number : 33 Question Id : 54592729121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fgu arv fashedt A & TWEl 3cay Teishd HTolT R T F|

Zeo| 2| |

(a) (b) (c) (d)

Options:

e

N




Question Number : 34 Question Id : 54592729122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing figure in the given matrix.

sli:lle
Ao
= @ ?

Options:

1.«

Gl
&
®
=
A
=
®




Question Number : 34 Question Id : 54592729122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a1v Afeard A oed el wAra Fifw)

O

® B

®
A
=

D| ®

Options:
1. ¢

2. = A
3. = >
4, = @

Question Number : 35 Question Id : 54592729123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the four figures are in similarity in some way. You
have to choose the figure which is odd /different:

Options:



3.

2
4o
%
i

Question Number : 35 Question Id : 54592729123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T A & el RET A AT FATSATT H Tk &1 3TTR! T8
3RI etell g it fawe / faear ar:

Options:

§6o




Question Number : 36 Question Id : 54592729124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many Squares are there in the figure given below?

Options:

1. = 10
2. % 106
3.% 14
4. v 19

Question Number : 36 Question Id : 54592729124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sl 41 918 3MepTd # Tohdar @t 87




Options:

1. = 10
2. = 16
3. = 14
4. v 19

Question Number : 37 Question Id : 54592729125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given three positions of a single dice, find the
number at the face opposite to the face having 1.

W @ @

Options:

1.% 3
2.% 5
3.1
4. 46

Question Number : 37 Question Id : 54592729125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh & 9T & U a0 dia afaar &, 1 & [l v ™
&7 AT HIT|

W @ @

Options:

1. = 3
2. % 5




3. % 1
4. v 6

Question Number : 38 Question Id : 54592729126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question find the answer figure in which
question figure is embedded.

5

Options: _
1.+ :!j
2. % fi=
, . (W
1 EEE

Question Number : 38 Question Id : 54592729126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



f&U 97 weel A Scol 3hfd A1 HIGIT o dd geat i

Aleaiad ol

S

Options:

mim

Question Number : 39 Question Id : 54592729127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which answer figure will complete the pattern in the
question figure?

_Questinn Figures

Options:

4, v

Question Number : 39 Question Id : 54592729127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HIeT-HT 3cc¥ 3MTpfc wRel 3MHicT H Yol I [T FIM?

Options:

Question Number : 40 Question Id : 54592729128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following choices is the exact mirror image of
the main figure.

Main Figure

=

Options:

=
1. =

v
2. %

A
3. %

)
4. v

Question Number : 40 Question Id : 54592729128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafafEa & @ Fie a1 OheT AET 3HTT w1 T a0
S gl
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=

Options:




General Awarenessl

Group Number : 3
Group Id: 5459271443
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness1

Section Id : 5459271443
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks:; 20
Sub-Section Number: 1
Sub-Section Id: 5459271731
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592729129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From which state does the dance of Kuchipudi originate?

Options:

1. v Andhra Pradesh
2. » Tamil Nadu

3. » Chhattisgarh

4. = Madhya Pradesh

Question Number : 41 Question Id : 54592729129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IIYET s[cd T Ieiea ohE TST T §5 87

Options:

1. v 3T 39T

2. = dmola'llg

3. * BcdlHdG
4, » AT YL

Question Number : 42 Question Id : 54592729130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mudiyettu’ is a traditionl folk theatre of which of the
following Indian State?

Options:

1. * Tamil Nadu
2. » Karnataka
3. = Andhra Pradesh



4, v Kerala

Question Number : 42 Question Id : 54592729130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬂ%ﬁgﬁmﬁﬁﬁﬁﬁﬁmﬂmmmmw

Options:

_.I e
2. % Shellceh

3. = 3T 3T
4. v FIT

Question Number : 43 Question Id : 54592729131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following festivals is a major festival in both
Nepal and Northern India?

Options:

1. v Teegj

2. #» Lohri

3. » Pongal

4. = Puthandu

Question Number : 43 Question Id : 54592729131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

e @aT # @ S a1 ER auter 3 3caliT 9RT et &

Uk YHE AR 7

Options:

1. v diIs

2. = oligarl
3. % Tl




4. » U
M TR0 Y

Question Number : 44 Question Id : 54592729132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following structures is there in the Amer Fort?

Options:

1. v Jail Minar

2. = Shahid Sthal
3. » Vijay Darwaza
4. » Hawa Niwas

Question Number : 44 Question Id : 54592729132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Torel A FeafelEa & & &ia Or G3er &7

Options:

1. v 3T AR
2. = eRIG Tl
3. = & =Lare
4.

« gar foardg

Question Number : 45 Question Id : 54592729133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following IDs have been made interchangeable
by the Union Budget 2019 for Income Tax Returns?

Options:

1. = PAN Card and Voter ID

2. v Aadhaar and PAN Card

3. = Voter ID and Aadhaar

4. = PAN Card and Ration Card

Question Number : 45 Question Id : 54592729133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ferg Fele 2019 ZaNT IR a0l (3T Rear) & fow
fFafel@a & | TohT ggdTe geddsll & [AfaT demar =r &7

Options:

1. % U F18 3 AdSAT 9gdTd U
2. v YR 3T U9 F1E

3. % HAdEIdT Ugdlel Ud AT 39R
4. = Yo F1E 3T TRF F15

Question Number : 46 Question Id : 54592729134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was first Governor of the Reserve Bank of India?

Options:

1. = A O Hume

2. = Sir James Taylor
3. v 8ir Osborne Smith
4. = C R Trevor

Question Number : 46 Question Id : 54592729134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T g sF F uger aIgad i 47

Options:

1. = T 3 egA

2. % T AFT ol
3. v O MEaia TAT
4, = T 3T ¢

Question Number : 47 Question Id : 54592729135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the theme of the Economic Survey 2018-19?

Options:



1. = Of the People, For the People, By the People
2. v Shifting Gears

3. = A Step Towards Financial Inclusion

4. = Digitisation of the Indian Economy

Question Number : 47 Question Id : 54592729135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3R aderor 2018-19 &7 fawg 47 &7

Options:

1. = SN T, @EN & ToIw, dE & ZanT
2. v gR@de FT &R

3. » TAcdi AL hl 37T Teh heH
4, » ARAT JIIaGEAT T TSToicellepor

Question Number : 48 Question Id : 54592729136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many types of radioactive decay occur in nature?

Options:

1. % 2
2.v 3
3.5 4
4. %5

Question Number : 48 Question Id : 54592729136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yFfa & fhda v F RAefFeT & 2 &7

Options:

1. = 2
2. v 3
3. % 4



4. = 5

Question Number : 49 Question Id : 54592729137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Due to which of the following phenomenon does the Sun
appear flatter or of oval shape during sunset and sunrise?

Options:

1. = Reflection

2. » Total internal reflection

3. v Refraction

4. = Both Reflection and Total internal reflection

Question Number : 49 Question Id : 54592729137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTolad # & il TR & FRUT FIART T2AT FAlGT
& HAY I TR 3Mhid H7 fgmar &2

Options:

1. % qITdclal

2. = qOT AR WIdcie]
3. v Uddel
4.

* TITel U qOT AR WIadiel alslr a1

Question Number : 50 Question Id : 54592729138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a pinch of baking soda is added to a teaspoonful of vinegar,
then (1) gas is released. If the gas is passed through freshly
prepared lime water, then the lime water turns (i1)___.

Options:

1. = (1) Hydrogen (ii) blue
2. v (1) Carbon dioxide (i1) milky
3. » (1) Methane (i1) yellow



4. = (1) Carbon monoxide (i1) green

Question Number : 50 Question Id : 54592729138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITE kT T W KT AT Uk T TR # faer feam s,
ar (i) 39 fasrerdr &1 IfE 39 3T FT TS F Gol F ATl
q eI fem STC A et T mEr (i) @y S

Options:

1. = (i) gT=3reta (ii) aATelm

2. v (i) e STS3AES (i) o
3. = (i) #AF (i) drem

4. % (i) relel AAIFATSS (i) g

Question Number : 51 Question Id : 54592729139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In (i)___, glucose is converted into (ii)____ in the final step.

Options:

1. = (1) Transpiration (ii) Sugar

2. v (1) Glycosis (i1) Pyruvic acid

3. # (1) Respiration (ii) Carbon monoxide
4. = (1) Digestion (i1) Water

Question Number : 51 Question Id : 54592729139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

()___ & 3fd# =or & veprat (i) # dRafdd & s gl

Options:

1. = (i) areoegera (i) e

2. v (i) TABRI/T (i) gTSeideh 3F
3. % (i) eawel (ii) e ArsiraEs
4. = (i) 9Tl (i) Ster




Question Number : 52 Question Id : 54592729140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is known as the ‘lungs of the Earth?

Options:

1. v Amazon Rainforest

2. = The Himalayan Biosphere
3. = The Savannah Forests

4. = The Alps

Question Number : 52 Question Id : 54592729140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[eafofEd # @ sl gzdl & B!’ & o & el Sar &7

Options:

1. v AT guI-gol

2. = fgATerT |yiaid SiadAge
3. * HATeall & STaTel

4. = Uoog

Question Number : 53 Question Id : 54592729141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In Biology, dendrites, axon and nucleus are part of a

Options:

1. ¥ Neuron

2. « Human-heart
3. = Blood
4. = Kidney

Question Number : 53 Question Id : 54592729141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIT-TaATel # AT, JHSTET 3T Thegh & 39T &I

Options:




1. v dTaeRT IRt
2. % Hleld Bad

3. # T&Fd

4. = F@&T

Question Number : 54 Question Id : 54592729142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a micronutrient supplied by soil?

Options:

1. = Nitrogen
2. » Calcium
3. v Iron

4. = Sulphur

Question Number : 54 Question Id : 54592729142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEd A @ Siaar ggA O Far & ured fmdr S Hehel
g7

Options:

1. = ATSclold
2. » Hicrrga
3. v 3™
4,

s e

Question Number : 55 Question Id : 54592729143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following will not be at risk to contract AIDS?

Options:

1. = Individuals who require repeated blood transfusions
2. = Drug addicts who take drugs intravenously



3. #» Children born to HIV infected mothers
4. v Persons working with HIV infected persons in office

Question Number : 55 Question Id : 54592729143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fedTel&T # & Fid UsH A & o0 SITEH H oJal g7

Options:

1. » U8 =g Siegl TR-F I&Fd-3TTe sl JT&d Blal &
2. % Al Zed el o 9T gar oa &

3. » TIHEA-GhidAd Al 8 ofeH §d

4. v FHIATT H TAHSAT-ThRHT FdDl & TTT FTH

N P
dliel edlad

Question Number : 56 Question Id : 54592729144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a property exhibited by the
Himalayan Mountains?

Options:

1. = Young in age

2. = Landforms like gorges and V-shaped valleys
3. » Water structures like rapids and waterfalls
4. v Rigid and stable geological structure

Question Number : 56 Question Id : 54592729144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foFaifolad # & Siaar BATOT 9dd ZaRT Vaieid Taawdr aigr
&7

Options:

1. = JaT 37aeaT A
2. « MY S MMl AT dT-3h T =fear




3. ® Tlal hl EHAT o8 T80T 3T ol - 991
4. v FOR 3N P oErsita =«

Question Number : 57 Question Id : 54592729145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the North Sea record higher salinity despite being
in higher latitudes?

Options:

1. = It receives water {rom the melted glaciers

2. v It receives water brought by the North Atlantic Drift
3. = It records very high rates of evaporation

4, = It is highly polluted

Question Number : 57 Question Id : 54592729145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3cdil @H% 3T 3ETRN H gl & SIdelg 3w oquidl F31
Reprs ear &7

Options:

1.w?zlgfﬁ'a€r§tf%ﬂ?|€rﬁm?ﬁwbd FLAT ©

2. v ¥U& 3ccddl 3caliceh Ydlg SaNT ol a7 YTell YT hid]

g
3. = ?:IEEITGEﬁEhTUTﬁmgd 3T &1 &l Ldl &

4.« TE eAAF v &

Question Number : 58 Question Id : 54592729146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following means new alluvium?

Options:

1. = Bhabar
2. v Khadar




3. = Bhangar
4. = Kankar

Question Number : 58 Question Id : 54592729146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AU STellg T Adeld Tadelroli&d A & <hiel @T &7

Options:

1. = #HTET
2. v Wy
3. % HER

4. % FHehT

Question Number : 59 Question Id : 54592729147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following crops can restore soil fertility and
how?

Options:

1. = Rice, by retaining the moisture in the soil

2. * Wheat, by adding the organic nutrients in the soil
3. v Pulses, by fixing nitrogen from the air

4. = Millets, by adding phosphorus into the soil

Question Number : 59 Question Id : 54592729147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT =™d # & i T BT [HEr T 39T I FaTel Y
Herdl & 3T a7

Options:

1. = U@, THET A THAT I FTATT TFHR
2.%%,@?3?%%?@%3&!?3#3133?

3. v 2rel, A § aArsgisle & faads




4. % FSRT, BIEHRT HI AT 7 AT

Question Number : 60 Question Id : 54592729148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

With reference to the growth of population in India which of
the following is correctly matched?

Options:

1. = 1901-1921 : peried of steady population growth of India’s
population

2. 1921-1951 : period of stagnant or stationary phase of
growth of India’s population

3. % 1951-1981 : period of increase in mortality rate in India
4. v 1981- present : period of gradual slowdown of population
growth rate of India

Question Number : 60 Question Id : 54592729148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR H SIEEAT $T ig & @50 A fdeaioiEd # & ie a1
THolTeT Tar &7

Options:

1. % 1901-1921: A T SCTEEAT T Fi§ hl g 37T E2T
TTaET

2. % 1921-1951: HRA HT STaEEAT w7 FaX gig H1 3@
3. = 1951-1981: IR # FcY T A gig T 3@fer

4. v 1981- TTATA: HRAT HT FAHEAT Ji& a H A i &
Uca hl 3aTa

General Awareness?

Group Number : 4
Group Id : 5459271444



Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 5459271444

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271732
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592729149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are not fresh water lakes?

Options:

1. = Dal Lake and Deepor Beel

2. » Wular Lake and Dal Lake

3. v Pangong Tso and Tso Morirl Lakes
4. = Pangong Tso and Deepor Beel

Question Number : 61 Question Id : 54592729149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefelid H & Sl &7 del 9Teil T Siiel o8l 872

1. » Bof Sirel 3T S9N &Ter
2. = oR el 3T 5 e



3. v HaTer oaOr 3T car AR Siet
4. = YaMeT c@T 30T ST sivel

Question Number : 62 Question Id : 54592729150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are sacrifices that were performed
during the Vedic period?

Options:

1. v Rajasuya and Ashvamedha

2. » Ashvamedha and Kutagarashala

3. » Kutagarashala and Rajasuya

4, = Rajasuya, Ashvamedha and Kutagarashala

Question Number : 62 Question Id : 54592729150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafei@aT 7 @ id & g7 3fts e & S re o 272

Options:

1. v T gT 3T 3eaAy
2. = 37egae 3T IR

3. * FEIANLTE AR TegT

4. = TONE, 3RGAY 3T IR

Question Number : 63 Question Id : 54592729151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Buddhist texts suggest that the Mauryas were (1)___, but
the Brahmanical texts described them as being of (ii)___ .

Options:

1. = (1) Kshatriyas (ii) Brahmanical caste
2. = (1) of low caste (i1) Kshatriya caste
3. v (1) Kshatriyas (il) low caste

4. = {1) Brahmans (il) low caste



Question Number : 63 Question Id : 54592729151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sig oy gara & o AR (1) 9, AT sEATT il o 3
() & w7 & afota f&am

Options:

1. = () gEF (i) FEAVERET AT

2. % (i) oot ST o8 (i) &= g
3. v (i) a3 (i) oot AT

4. % (i) FEAT (i) o1 S

Question Number : 64 Question Id : 54592729152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Delhi Sultans and their ruling periods
are correctly matched?

Options:

1. = Jalaluddin Khalji : 1270-1276

2. v Ghiyasuddin Tughlaq : 1320-1324
3. » Ghiyasuddin Balban : 1236-1240
4. » Bahlol Lodhi : 1414-1421

Question Number : 64 Question Id : 54592729152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafei@d A @ fore fedl Fodle T 3k e el I
el TAoer foraT T &7

Options:

1. = Sfellelgla T&ereil: 1270-1276
2. » PRI qEre: 1320-1324
3. % ﬁl’ﬂ@?l' sTelslal: 1236-1240
4, = Sgellel oltdl: 1414-1421




Question Number : 65 Question Id : 54592729153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(1)__ introduced a new policy of governance called (i1)___ .

Options:

1. = (1) Jehangir (ii) sulh-1 kul
2. v (1) Akbar (11) sulh-1-kul

3. # (1) Jehangir (11) Din-e-1llahi
4. = (1) Akbar (ii) Din-e-illahi

Question Number : 65 Question Id : 54592729153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(i) = (i) __ TAF OFel kI Tk a5 sAlfd & HII

1. = (i) STEHIT (i) Gorg-5-Fo
2. v (1) 3haT (1) Helg-3-el

3. % (i) SEEIN (i) SreT-U-Salmar
4. = (i) 37RaT (i) aIeT-U-Zermer

Question Number : 66 Question Id : 54592729154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the first English factory set up in India?

Options:

1.~ 1651
2. % 1653
3. = 1655
4. = 1657

Question Number : 66 Question Id : 54592729154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HT H Ugell 3T FREET e ay TATIT RaT =T 2477

Options:



1. v 1651
2. = 16583
3. = 1655
4. = 1657

Question Number : 67 Question Id : 54592729155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Doctrine of Lapse was introduced in which year?

Options:

1. = 1846
2. v 1848
3. = 1850
4. = 1860

Question Number : 67 Question Id : 54592729155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&29 it T Aga rg a¥ & urariad Rar =ar ore?

Options:

1. = 1846
2. v 1848
3. = 1850
4. = 1860

Question Number : 68 Question Id : 54592729156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian state does MC Mary Kom hail from?

Options:

1. = Nagaland
2. * Assam
3. v Manipur



4. = Meghalaya

Question Number : 68 Question Id : 54592729156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH. dT. 3T A FT ARG TeT 8 §7

Options:
1. = AEMels
2. = IGH

3. v H’ﬁl’gi’
4. = AT

Question Number : 69 Question Id : 54592729157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following has won the International Booker
Prize 20197

Options:

1. ¥ Marilyn Booth
2. » Olga Tokarczuk
3. » David Grossman
4. « Han Kang

Question Number : 69 Question Id : 54592729157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d & & Tohael IRTSET FF qEFRR 2019 SiTaT 87

Options:

1.&?34%?[@

2. = 3leal TRTTHR
3. = 3fag aTadA
4. = goT har

Question Number : 70 Question Id : 54592729158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who is the author of the book “One Indian Girl”?

Options:

1. = Vikram Seth
2. v Chetan Bhagat
3. *» JThumpa Lahiri
4. = Arvind Adiga

Question Number : 70 Question Id : 54592729158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

"Tel 33T " TEAF F ATHF il 87

1. = oy
2. v dcdel I
3. = %eraﬁﬁﬁ
4. » 3Tde 3rSam

Question Number : 71 Question Id : 54592729159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the World Bank Group established?

Options:

1. = 1942
2. v 1944
3. = 1946
4. % 1948

Question Number : 71 Question Id : 54592729159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e s HHg $1 TAVET T Ty 7 a2 o41?

Options:

1. = 1942
2. v 1944



3. = 1946
4. = 1948

Question Number : 72 Question Id : 54592729160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following is known for the discovery of cancer
therapy?

Options:

1. v James P. Allison
2. = Denis Mukwege
3. = Frances H. Arnold
4. = George P. Smith

Question Number : 72 Question Id : 54592729160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 O F8 FOT 930 Fr @ & v ST Sar §7

Options:

1. v S1&g dT. Ulerdd
2. « 3o FF

3. » I UH. 3Meifes
4, = el UT. AY

Question Number : 73 Question Id : 54592729161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

James Watt is known for the invention of

Options:

1. = Television

2. = Telephone

3. v Steam Engine
4. = Spinning wheel



Question Number : 73 Question Id : 54592729161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SFT dic &I fopd & AR & Tolv AT ST §7

Options:

Question Number : 74 Question Id : 54592729162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of Indian Constituion associate sikkim with the
union?

Options:

1. = Article 3A
2. » Article 3

3. v Article ZA
4. = Article 1A

Question Number : 74 Question Id : 54592729162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR FlAgTe & fhd eeoe & dad Miasa &I ¥g &
SISt I=T?

Options:

1. = 3feTese 3A
%3'@1»_&3-?«"3

.Jﬁﬂﬁ?{2A
. » 3eeoe 1A

Question Number : 75 Question Id : 54592729163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BOwWON



The (1)__ Emergency under the Article (ii)___ has never been
declared in India so far.

Options:

1. # (1) Presidential (ii) 352
2. v (1) Financial (ii) 360
3. = (1) Presidential (ii) 356
4. = (1) Financial (ii) 352

Question Number : 75 Question Id : 54592729163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR H () 3TOTcerel (i) 3e[eoa & agd Fur e
ST sTgl feham aram &

Options:

1. = (i) Tsgatar (i) 352
2. v (i) Bed™ (i) 360

3. = (i) Tegufd (i) 356
4. = (i) Bed= (i) 352

Question Number : 76 Question Id : 54592729164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which part of Indian Constitution tells about election?

Options:

1. v Part XV
2. = Partv
3. = Part XI
4, = Part XIV

Question Number : 76 Question Id : 54592729164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TGN T el HT HET Ielld & TR H ST §7

Options:



1. v HTE9T XV
2. % HMET V
3. = 9T Xl
4, = HT XIV

Question Number : 77 Question Id : 54592729165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the constitution assembly who among the following made
an ageressive plea to use hindi language for making
constitution?

Options:

1. = N.G. Ranga

2. v RV. Dhulekar

3. » Govind Ballabh Pant
4. = Rajendra Prasad

Question Number : 77 Question Id : 54592729165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aareT T # faeafei@ad & & forda 9iaygre §de & v
T&ET HTST T 39T e & TIT Toh 3TshTAS Sollel of 277

Options:

1. = Wel.SiT. TaM
2. v 34T %ﬁﬁﬂ'
3. » IMdE TeolH Ud

4. = Toleg TG

Question Number : 78 Question Id : 54592729166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the captain of the Indian ODI Cricket Team, when
India had won the World Cup in 1983?



Options:

1. = Sunil Gavaskar

2. » Mahinder Amarnath
3. = Roger Binny

4. v Kapil Dev

Question Number : 78 Question Id : 54592729166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRATT U a8 fohehe STH & Fedlel i &, o 9_T o
1083 # faeg g Siar ar?

Options:

1.w§?ﬁ?»r?nam

2. = HAIGET ALATY
3. = Qo foear
4,

- w
v hivel &d

Question Number : 79 Question Id : 54592729167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cricketers have the record of highest
batting average in Test Matches?

Options:

1. = Sachin Tendulkar
2. v Don Bradman

3. » Adam Voges

4. = Sir Garfield Sobers

Question Number : 79 Question Id : 54592729167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeTTa@d Tohahed H & Thd Teoldlel T oTH ofc HT A
oy 37T Mad Teolaral o Nepis H enfAe &7

Options:




. e S
Jﬁ?l'élgﬁ?l'
« USH 9y

« T ILHTes §d

Question Number : 80 Question Id : 54592729168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which sports is Rahul Chaudhari related to?

Options:

1. » Kho Kho

2. » Mallakhamb
3. v Kabaddi

4. = Hockey

ol

Question Number : 80 Question Id : 54592729168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tger diedl fohw Ber & F@IfAT &7

1. = =T =

2. = Heol&sl
3. v hegal

4. = glenl

Arithmetic Ability1

Group Number : 5

Group Id: 5459271445

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20



Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271445
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271733
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592729169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

1111.1 +111.11 +11.111 =7

Options:

1. » 1232.231
2. % 1233.123
3. % 1332.331
4. v 1233.321

Question Number : 81 Question Id : 54592729169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el T Ueal H Usiaresr g (?) o T 9T FIT 3T

ATV

1111.1 + 11111 + 11111 = 7



Options:

1. = 1232.231
2. = 1233.123
3. » 1332.331
4. v 1233. 321

Question Number : 82 Question Id : 54592729170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

0.216 +0.008
0.36 —0.12 + 0.04

Options:

1. 0.3
2. % 0.5
3.v0.8
4. % 0.9

Question Number : 82 Question Id : 54592729170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafa T uee H UReaes eg (?) & TUTH 9T FAT HTa]
MW7

0.216 +0.008
0.36 —0.12 +0.04

Options:

1. = 0.3
2. = 0.5
3. v 0.8



4. = 0.9

Question Number : 83 Question Id : 54592729171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

2 of2ofZ of 848 =2
11 5 16

Options:

1. = 216
2. % 222
3. = 208
4, v 212

Question Number : 83 Question Id : 54592729171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e # wReaaes Neg (?) & TATH UT FAT 3T

Sl

848 T = & = & = =9
16 5 11

Options:

1. = 216
2. % 222
3. = 208
4. v 212

Question Number : 84 Question Id : 54592729172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What approximate value will come in place of the question
mark?

EKE+E+_=?
R | 9

7

Options:

1. % 17

b | =

Question Number : 84 Question Id : 54592729172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e H weares eg (?) & TUTT UT FAT e

aTge?

ixz +E+E = 7?
S S L
Options:

9
1- % 1T

20



18

b | b

Question Number : 85 Question Id : 54592729173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

3960 ~ 24 x 392 +-14 ="
Options:

1. = 4305
2. % 193

3. v 4620
4. = 2310

Question Number : 85 Question Id : 54592729173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATt T U2sT H Uelardes eg (?) & TUTT 9T FAT 3HTa]

AT

3960 + 24 x 392 + 14 = 7

Options:

1. = 4305
2. = 193
3. v 4620
4. = 2310



Question Number : 86 Question Id : 54592729174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

93 x 812 + 273 = (3)?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.3
2.4
3.5
4.6

Question Number : 86 Question Id : 54592729174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafa T uee H UReaes eg (?) & TUTH 9T FAT HTa]
MW7

93 x 812 + 273 = (3)?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 3
2. 4
3.5
4. 6

Question Number : 87 Question Id : 54592729175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The L.C.M. and ratio of three numbers are 690 and 2:3:5
respectively. Find the sum of largest and smallest numbers.

Options:

1. = 346
2. % 146
3. v 161
4. = 321

Question Number : 87 Question Id : 54592729175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot FEATHT T o.H. TUT T[T FAT: 690 AT 2: 3: 5 &
gad F2r AT g9 BT &AT FT JTH ATT hITAT|

Options:

1. = 346
2. = 146
3. v 161
4. = 327

Question Number : 88 Question Id : 54592729176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The H.C.F. and L.C.M. of two numbers are 30 and 600
respectively. If the first number is divided by 2, the quotient is
60. Then find the second number.

Options:

1. = 50

2. % 100
3. v 150
4. % 250

Question Number : 88 Question Id : 54592729176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3 TEAT3T T A.F. TUT 9.9, wA 30 3T 600 & afg ugelr
FEIT I 2 ¥ fasriord fham Sire ar smerher 60 & o gEd
JEIT AT hifev]

Options:

1. = 50
2. = 100
3. v 150
4. = 250

Question Number : 89 Question Id : 54592729177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the least natural number to be subtracted from 5160 so
that the result is always divisible by 13.

Options:

1.+12
2. % 16
3. %59
4. % 29

Question Number : 89 Question Id : 54592729177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gg DT T BT TEIAT AT shiord org 5160 # & =Tl W
gRomHE gRT 13 ¥ Owaa 8

Options:

1. v 12
2. = 16
3. = 89
4. = 29




Question Number : 90 Question Id : 54592729178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by both 33 and 2?

Options:

1. = 3732
2. v 5280
3. = 4120
4. % 5242

Question Number : 90 Question Id : 54592729178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFalofEad # & i @7 "&d1 33 3N 2 ar & fasrield g7

Options:

1. » 3732
2. v 5280
3. = 4120
4. = 5242

Question Number : 91 Question Id : 54592729179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are four brands shirts available in a shop. The number
of shirt of brand A, B, C and D is 40, 60, 55 and 27 respectively.
The shopkeeper sold 65 percent of brand A, 83.33 percent of
brand B, 60 percent of brand C and all the shirts of brand D.
What is the average number of shirt per brand sold by
shopkeeper?

Options:

1. = 31
2. % 32
3.v 34
4. % 39



Question Number : 91 Question Id : 54592729179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush Zehlel H AR §IS T A& 3l &1 &5 A, B, C 31 D w1
& T FEAT FAT: 40, 60, 55 3T 27 ¥| qFAER & 3 A
T 65 ufderd, &g B hr 83.33 ufderd, &5 C =1 60 wfaerd
AR 8 D hr Tl o F o AT FHREER Egrr Sy g
UTd 18 ¢ FT ’Aaa g&ar fraar g7

Options:

1. = 31
2. = 32
3. v 34
4. = 39

Question Number : 92 Question Id : 54592729180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a school, the number of boys is 150 percent of the number
of girls. The average weight of the class is 58 kg. The ratio of
average weight of girls to boys is 7 : 5. What is the average
weight of boys?

Options:

1. v 50kg
2. » 45Kkg
3. = 40kg
4. » 30kg

Question Number : 92 Question Id : 54592729180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk Thel H, oIgehl h1 HEAT osiehdl T TEAT &1 150 dfcrerd &
| HeIT T MEa gotel 58 Terellanmd &1 osfRay & Maa goe
3 R F NG Totel HT eI 7: 5 &1 wgehT HT AT

dotel fohdelr &7

Options:

1. v 50 Toreltanma
2. = 45 foRellamd
3. = 40 Tohellamd
4. = 30 fereltamd

Question Number : 93 Question Id : 54592729181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The marked price of a car is Rs.P. A person bought the car at
18 percent discount due to December sale and additional 10
percent discount due to cash payment. After that he spent 5
percent of the purchased price on the accessories. If he spent
overall Rs.619920. What is the marked price of the car?

Options:

1. v Rs.8,00,000
2. » Rs.7,60,000
3. * Rs.9,00,000
4. » Rs.8,50,000

Question Number : 93 Question Id : 54592729181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gk R HI 3ifhd Heg P § | T afehd of fagew foshr &
FROT FR FI 18 YfAAT T T W 3N Fhg T F FROT
HTARFT 10 vfcerd g W =& 38+ 96 389 g
3URI0T X ERIET 95 FTAT &7 5 gfaerad =< fan afe 39+
FeT $.619920 < [, FR 3ffhd Aed T 87

Options:

1. v %.8,00,000
2. = %.7,60,000
3. = %.9,00,000
4. = %.8,50,000

Question Number : 94 Question Id : 54592729182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The expectation of Priyanka for getting marks in her exam
was 65 percent. On the day of result, she surprised because
her score was 507 marks which was 120 percent of her
expectation. What were the maximum marks of exam?

Options:

1. v 650
2. % 750
3. = 500
4. = 540

Question Number : 94 Question Id : 54592729182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT GIET H 37k 9Tl hr Ot T 3FAIg 65 wiaerd o7
gRoTH & fod, 38a 3eTRRhd haT FITR 3T ThIX 507
37F T ST 3TehT 3TUET T 120 Uferd ATl WiTem & TSehds
3h F4T A7




Options:

1. v 650
2. = /50
3. = 500
4. = 540

Question Number : 95 Question Id : 54592729183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A salesman gets commission on the total sales at 12 percent. If
the sale is exceed Rs.15000 he gets an additional bonus of 5
percent on the excess of sales over Rs.15000. if he gets total
commuission of Rs.2208, then what is the bonus he receives?

Options:

1. » Rs.212
2. v Rs.120
3. ®= RS.75

4. » Rs.180

Question Number : 95 Question Id : 54592729183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U fashell T ol TshT TT Farers 12 gicerd ferdr &) oy
TSshT %.15000 & 31f9er &, dF 39 %.15000 & 377eer T feshr
7 5 ufaerd &1 3fARFT serd fAerar g1 afg 38 Fel £.2208
T AT HACT &, dl 38 THele arer Sad 4T §7

Options:

1. » 8.212
2. v %120
3. = 875
4. = %180




Question Number : 96 Question Id : 54592729184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an office there are 2600 employees. On Monday only 9
percent of male employees were absent. On Tuesday only 22
percent of female employees were absent. If employees
present in the office on Monday and Tuesday were same.
Then the number of female employees in the office is:

Options:

1. v 1400
2. % 1500
3. = 1200
4. = 1600

Question Number : 96 Question Id : 54592729184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk FIATe T H 2600 FHANT &1 WATGR FT Fad 9 Alderd Ie9
FATRT 3HAURAT | HITGAR T shdel 22 Alderd Afge
FATNT 3qUREIT o7 IS FHAIN 3R AITeGR FT FATeT A
3UTEAT FHUART TATT & dF hEATIT H ARAT FHAATRIT hT
&7 &l

1. v 1400
2. = 1500
3. = 1200
4. = 1600

Question Number : 97 Question Id : 54592729185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The selling prices of two headphones are equal. One sold at a profit of 62.5% and other at
a loss of 3:—3 % loss. On the whole there is a profit of Rs.630. Find the cost price of the

headphone ‘on which there is a profit.

Options:

1. » Rs.950
2. » Rs.1080
3. v Rs.1120
4. » Rs.880

Question Number : 97 Question Id : 54592729185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁmﬁﬁmnﬂmgiwﬁzﬁ%#mwmw%%ﬁm
oY @@ aFt 9T $.630 & AT g1 85O &I AFG Aed AG BT fHE W A
gl

Options:

1. = %.950
2. = %.1080
3. v %1120
4. = 5.880

Question Number : 98 Question Id : 54592729186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ramesh bought three old computers for Rs.6000, Rs.7500 and
Rs.7200. He spent 15 percent, 12 percent and 10 percent of the
respective cost price on their repairing. He marked up the
computers at 50 percent, 40 percent and 25 percent above the
respective original cost prices. If sells all the computers at 10
percent discount, then what is the profit percent of Ramesh?

Options:

1. = 18.42 percent
2. % 19.11 percent



3. v 20.23 percent
4. = 24 percent

Question Number : 98 Question Id : 54592729186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAL o el Qe Fged S $.6000, .7500 3T .7200 &
ZRIET| 38 AFAT T e ot Hed T HA: 15
wfcrerd, 12 wfderd 3 10 gfderd TR fham 38e Feged
T Hel oetd Hed & 50 wfaerd, 40 gfderd 3T 25
fcerd FW 3ffehd foham Ife Teft Fogedr 1 10 wfaerd g
qT ST &, OF THT T O uiaera AT §7?

Options:

1. = 18.42 wigera
2. % 19.11 ufoera
3. v 20.23 wfcera
4. % 24 yierd

Question Number : 99 Question Id : 54592729187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An overall profit of 25.875 percent is to be made from sale of
two products. One of them was sold at a loss of 11 percent. At
what profit percentage should the second product be sold,
given that the selling price of first and second products are in
the ratio 267 : 740.

Options:

1. = 42 percent
2. % 60 percent
3. = 38 percent
4. v 48 percent



Question Number : 99 Question Id : 54592729187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

25.875 wfceId & el aTeT al Icdtel T fashr & fohar e g
3oH @ Ush T 11 gfcerd $r gl 9T s9T I=T A7) gE 3c9ig
HI For @mer wfdera @ a1 Srar anfge, afg vger 3T gar
3cutel T TSRt Hedr 267: 740 & 3fe[dld H ¥

Options:

1. = 42 wfaera
2. = 60 gfaerd
3. » 38 wfaerd
4. v 48 yiaera

Question Number : 100 Question Id : 54592729188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of money with Amitabh and Amir is in the ratio 9 :
4. Amitabh divides 40 percent of his money to Abhishek and
Aashutoshin in the ratio 17 : 12. What is the total amount
with the four if the share of Abhishek is Rs.11016?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Rs.65481
2. Rs.52416
3. Rs.67680
4. Rs.75842

Question Number : 100 Question 1d : 54592729188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT 3T 3MAT & o1 Y T 30T 9: 4 7 &1 AATH
@ ISR 3T AT F oI 37ua 49 1 40 widerd, 17: 12
% 3Te[dTe] H ST |37TANE T AT 11016 &, TRT & @1

ng»rTrf&?Tw’ér?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:

1. %.65481
2. 852416
3. %.6/680
4. ®.75842

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Arithmetic Ability2

6
5459271446
0

0
No
No
0
20
No
Yes
0

0

Arithmetic Ability2

5459271446
1

Online
Mandatory
20

20

20

Sub-Section Number: 1



Sub-Section Id: 5459271734
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592729189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of present ages of Vaibhav and Pankaj is 11 : 12.
Eight years ago, the ratio of 75 percent of Vaibhav’s age to two-
third of Pankaj’s age was 81 : 80. Five years from now, what
will be the ratio of ages of Vaibhav’s to that of Pankaj’s?

Options:

1.« 17 : 18
2. % 24:29
3.+49:53
4. % 36:41

Question Number : 101 Question Id : 54592729189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ded 3 Uehol T TcTATe 3R T AT 11 @ 12 §| 373 el
ggel, 9T hl 3H T 75 UTaerd 3T el T 3H FT a-as
T 37eTaTT 80 : 81 4TI 3§ & UM AT 1, dHT kI 3T F
3N dehoT shT 3 T 3dTeT AT MY

Options:

1.« 17 : 18
2. % 24 : 29
3. v 49 : 53
4. % 36 : 41

Question Number : 102 Question 1d : 54592729190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Four numbers are intheratio14:8:3:9. If 4 and 1 are
subtracted from the first and second numbers while 8 and 5
are added to the third and fourth numbers respectively, they
will be In proportion. What is the sum of second and third
numbers?

Options:

1. = 11/3
2. % 7/4

3. v11/2
4. = 16/5

Question Number : 102 Question 1d : 54592729190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR TEATT 14: 8 3: 9 & 31U & & If 4 3 1 FT vgat
AT gAY HEAT § "SR AT § Sefh 8 3 5 T AT dre
AN Y FEIT A ST AT §, A d FHAGUT H gl @ 3N
Y TEIT T T AT 57

Options:

1. = 11/3
2. % 7/4
3. v 1172
4. = 16/5

Question Number : 103 Question Id : 54592729191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Anand invested Rs.18000 on simple interest at 7 percent per
annum for ten years. Bharat invested Rs.P on compound
interest compounded annually at 10 percent per annum for
two years. The interest received by Anand is 250 percent
more than the interest received by Bharat. What is the value
of P?

Options:

1. » Rs.16452.69
2. v Rs.17142.85
3. = Rs.12568.44
4. » Rs.20145.12

Question Number : 103 Question Id : 54592729191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3G o &8 &Tel & Tolv ufa a¥ 7 wfderd &r g7 & ATRoT
SIS W % 18000 o1 foider fopam| sk of & &rel & v 10
ufderd 9fcaay &1 & & Thgig SISl (QM¥eh a0TeT) W &P HT
forgder fRaT| 31Teie 1 [Pda areT saTal T &l [Hele are
sOTeT & 250 uiaera 39 &1 P 1 AT a7 §7

Options:

1. = %.16452.69
2. v $.17142.85
3. » %.12568.44
4. = 52014512

Question Number : 104 Question Id : 54592729192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sum of Rs.72000 is lent to two persons P and Q. The money
lent to P on simple interest at 8 percent per annum for three
years and the money lent to Q on simple interest at 7 percent
per annum for four years. At the end of corresponding
periods, interest accrued on the two parts together is
Rs.19440. What is the money lent to P?

Options:

1. v Rs.18000
2. % Rs.24000
3. = Rs.54000
4. » Rs.27000

Question Number : 104 Question Id : 54592729192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5.72000 Fr TP aF afFaar & P 3w Q & 3R & ST &
P T il @Tel o Tolv 8 ufaerd 9fad ay &l X & AraroT
STl W3YN & S dr g 3R IR @Ter & folw 7 ufaera ufa av
q¢ HTYROT &7l 9T Q I 4471 foar <rar &1 38T 3afS & 37
H, & AT 9 Tk T 3Toid ST %.19440 &1 P &°F 39X
fer =T geT 4T 7

Options:

1. v %.18000
2. » %.24000
3. = %.54000
4. = %.2/000

Question Number : 105 Question Id : 54592729193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The compound interest on a certain sum at 13 percent per
annum compounded annually for two years is Rs.4042.74.
Find the simple interest on same sum at same rate of interest
for 8 years.

Options:

1. = Rs.12754
2. » RS.13565
3. = Rs.13962
4. v Rs.15184

Question Number : 105 Question Id : 54592729193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar @l & forv fafeaa ufer ov 13 ufgera ufad ¥ ¥ asrorer
N TehgiE AT $.4042.74 &1 8 @Y & T §AW s T W
AT T 9T GTUROT &ATST AT hIoIT|

Options:

1. = %.12754
2. % %.13565
3. » %.13962
4. v %.15184

Question Number : 106 Question Id : 54592729194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man travelled from the village to the bus stop at the rate of
15 km/hr and walked back at the rate of 4 km/hr. If the whole
journey took 3 hours 48 minutes, find the distance of the bus
stop from the village?

Options:

1. = 15 km
2. % 20 km



3.v12 km
4. = 24 km

Question Number : 106 Question Id : 54592729194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh eATord o IMd @ §6 FI $T IrAr 15 Fh.AL/Eer &1 e |
q T AT 4 fRAL/EE FT T F amog AEn I gl JET F
A 3 € 48 fAc o6l g, d 39 o & s T&9 hr gl AT
HL7?

Options:

1. = 15 km
2. = 20 km
3. v 12 km
4. = 24 km

Question Number : 107 Question Id : 54592729195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person covers a total distance x in the following manner. He
covers the first one-third of the distance at 50 kmph, 40
percent of the remaining at 40 kmph and the remaining
distance at 60 kmph. If he covers a total distance of 330 km,
find his average speed over the entire journey.

Options:

1. = 48Kkm/hour
2. v 50 km/hour
3. = 52 kimm/hour
4. = 56Kkm/hour

Question Number : 107 Question Id : 54592729195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ueh ST faFafedd TohR & Fel g x H TF HIAT ¢ T8
50 ferdAT wlar & &1 T o ugel U Tdgrs, 40 ThAT ufa =
W AN T 40 wfderd R a9 gfr 60 forAT ufa = &7 gff a7
AT &1 Tfe a8 330 FRAT AT For gt T FIAT &, A g
AT H 3GHT 3T I ATT FHI

Options:

1. = 48 TrA/EeT
2. v 50 TerA/Eer
3. = 52 forAvEer
4, = 56 fRAEer

Question Number : 108 Question 1d : 54592729196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kajal was going to college at speed of 5/6 of his regular speed.
But he reached college 3 minutes late with this speed. Find
the regular time taken to reach the college by Kajal.

Options:

1. v 15 min
2. » 17 min
3. = 21 min
4. = 30 min

Question Number : 108 Question Id : 54592729196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FToTol 3Rl GIEdAeh I & 5/6 & FHietel ST L&l AT| oifcha,
%sﬁ?ﬁﬁﬁﬁHSﬁmﬁaﬁﬁW%l ShToTel 2N
ﬁﬁaﬁ%ﬁﬁﬁmmlﬁ grell arEdidsh THAT &7

Options:




1. v 15
Hdac

2. = 17
e

3. % 271
e

4. = 30
e

Question Number : 109 Question Id : 54592729197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anand, Bhanu and Chandra can complete a work in 4 days.
Anand andChandra alone can do the same work in 8 and 16
days respectively. How many days will Bhanu alone take to
completethe same work?

Options:

1.+ 16
2. % 20
3.% 8
4, % 12

Question Number : 109 Question Id : 54592729197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ele, e 3 =T 4 feall & forelt FrF 9O T el §1 3MTeig
AT TeT A 8 3 16 &l # 38T F1F HT 37hol AT
Hhd §1 38T FE F QT T H AT FT vl Tl &
CEIEIN

Options:

1. v 16




2. = 20
3. = &
4. = 12

Question Number : 110 Question Id : 54592729198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, working alone, takes 80 days more than the time taken by
A and B working together to complete the work. B, working
alone, takes 20 days more than the time taken by A and B
working together to complete the work. Find the time taken
by A alone to complete the work.

Options:

1. = 40 days
2. = 60 days
3. v 120 days
4. = 160 days

Question Number : 110 Question Id : 54592729198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, 3hel FIH HIA §C A 3R B ZGRT F1H [ A & @91
dqTel THI T Jetell A 80 Tt 31fa o &1 B, 31hel F1H
$Id §E A 3T B g@T HH T HA A 9T arel AT T 20
feeT 317 ofaT &1 T 7 W el & Tolw A ganr foram am=m
AT gdr|

Options:

1. = 40 fea1
2. = 60 f&ar
3. v 120 fe=




4. = 160 e

Question Number : 111 Question Id : 54592729199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A and B can complete a work in 10 days and 20 days
respectively. If they work on alternate days, then find the
least number of days in which the work will be completed.

Options:

1. = 13.2 days
2. v 13 days
3. % 13.5 days
4. = 15 days

Question Number : 111 Question Id : 54592729199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3T B swaer: 10 feat 3w 20 f&alr # v SHE 9 T dhd
gl afg 9 dfeus TGl # 17 HId &, df F7 T HH 3 el
T HEIT AT Y ToleTH HTH AT & S0

Options:

1. = 13.2 feaf
2. v 13 faaT
3. % 13.5 feaf
4. % 15 f&aT

Question Number : 112 Question Id : 54592729200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A circular wire of diameter 14 ¢cm is bent in the form of a
rectangle whose sides are in the ratio 6: 5. The area of
rectangle is (use p = 22/7)

Options:

1.+ 120 cm2




2. » 108 sz

3. = 216 cm2

4, % 132 {:m2

Question Number : 112 Question Id : 54592729200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

14 A =T drel TF Jodd dR FT Tk ARAATHRR & §T H
HIST STl &, ToIeehT SfoTail sh 37Ty 6: 5 &, ol 37T <l
g el & (P = 227 T 39T L)

Options:

1. v 120 @&t |4
2. = 108 Far |AAT
3. = 216 FeT FAT
4. = 132 Far |AAT

Question Number : 113 Question Id : 54592729201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the volume of a cuboid whose length is 12 cm, breadth is
10 cm and height is 8 cm.

Options:

1. = 900 cube cm
2. » 920 cube cm
3. = 940 cube cm
4. v 960 Cube cm

Question Number : 113 Question 1d : 54592729201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh HATH ToIaehT oems 12 AT, dise 10 9aT 3K 3=15 8

AT &, T 3TITT AT FL




Options:

1. = 900 ==l @AY
2. = 920 e THY
3. % 940 T FAY
4. v 960 e THAT

Question Number : 114 Question Id : 54592729202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A horse is tethered at one corner of a square plot of side 35 m
by a rope 28 m long. The ungrazed area is

Options:

1. v 606 m2

2. % 5706 m2

3. = 504 m2

4, % 632 m2

Question Number : 114 Question Id : 54592729202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

35 HeT T & Uk T WS & Tk hld W Uk =3 I 28
HieT oeT IEAT I T 1T g1 9T T S9%T &

Options:

1. v 606 Tdt #HeT
2. = 576 I Al
3. % 504 Tat HAreX
4. = 632 g AT

Question Number : 115 Question Id : 54592729203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table carefully to answer these questions:

Populations (in thousands) of Six States over the vears
STATE

A B C D E F

2014 | 92 140 193 160 140 160

2015 | 119 150 210 185 135 175

2016 | 125 170 215 230 145 190

2017 | 130 190 226 240 160 200

Years

What was the average population of all the states together in
20177

Options:

1.+ 1,91,000
2. % 1,82,000
3. = 1,86,200
4. % 1,75,500

Question Number : 115 Question Id : 54592729203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@d weal 1 3cav 3ot & foIv @aumeigds fartieizd
aTfeIeRT hT 3TeTAT |

v arw auf & ¢ T F SFAEEAT (FIR H)
Al

A B C D E F
2014| 92 140 193 160 140 160

2015 119 150 210 185 135 175

2016 | 125 170 213 230 145 150
2017] 130 190 226 240 160 200

2017 A @Y U=t T daa FagEar a7 oAr?

Options:



1. v 1,91,000
2. = 1,82,000
3. = 1,86,200
4. = 1,75,500

Question Number : 116 Question Id : 54592729204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following graph carefully to answer the questions.
The following pie chart shows the Percentage of Visitors
visited at three different tourist places of India in a particular

week and table shows the ratio of male to female.

Total Number of Visitors = 80,000.

Respective Ratio of Male to female.

Places Male | Female
Taj Mahal 2 1
India Gate 12 5
Qutub Minar 7 3

What is the respective ratio of total number of male visitors
visited at Qutub minar to the total number of female visitors
visited at Ta] Mahal?

Options:



1.4:9
2.%x5:7
3.56:7
4. +40:9

Question Number : 116 Question Id : 54592729204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafe@a geal &1 3caX 8 & fov AFafeai@a aw &1
AT Yaeh 3TeTel |

fFafel@a arg are ToRAT TTdTg # HRT o dlel 3Teldr-37e9
e F2el WY 3Tel dlol MM o fcTerd sl @iter 3
IferRT TSt 2T AfFETst & e Fr gefar #

TATIeRT T Fo &ar = 80,000

drsT #gel 4 1
HERIE 12 5
FadAER | 7 2

FIT AT H TEY TR T TGAT TUT ATSTAT H Algol
31‘|?1—qu7=|# hT TEAT FT HA: 3T 1 87

Options:

1. = 4:9
2. % 517
3. » 6: 7




4. v 40 : 9

Question Number : 117 Question Id : 54592729205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following table carefully to answer these questions:

Number of candidates appearing for an interview for a post
in various Banks and percentage of candidates qualifying

Banks | Candidates % of Candidates
Appearing Qualifying
A 1000 15
B 1800 25
i 2500 20
D 1400 15
E 800 30

What was the respective ratio of the number of candidates
who qualified in bank A to the number of candidates who
qualified in bank C?

Options:

1. 7:5
2. 5:8
3.%3:7
4.+3:10

Question Number : 117 Question Id : 54592729205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a deall &1 3ca¥ &ot & v aEuEiyEas fAeafafd

JTTeIRT T 3TeTTT FHi-

Bffea ST A AT 92 & T TH gi8Tch & oIT Maca
lal dTel TFATAT hT FEIAT 3T 3cdloT I9TIAT T ATard|

dF | rgfEt | scdoraemiEEta
S e .
A 1000 15
B 1800 25
C 2500 20
D 1400 15
E 800 30

goh A F 3cAroT 3eTAT T AT JAT d C H Scaror
39TTEAT T TEIT FT FAA: TeIATT 4T &7

Options:
1. = 7:5
2.« 5:8
3. % 3: 7
4. v 3 : 10

Question Number : 118 Question Id : 54592729206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer the questions.
Graph shows the number of televisions produced by different
companies.

o
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& & 8
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number of product (in
thousands)
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=
|

2015 2016 2017 2018

ECompany A W Company B

What was the respective ratio between the number of
televisions manufactured by the company-A in the year 2015

and the number of televisions manufactured by company-B in
year 20187

Options:

1.«1:3
2.%3:5
3.x4:2
1. +9:8

Question Number : 118 Question Id : 54592729206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fAFafelT=&T el &7 3ca¥ da o Tolv e roli@d ITH T
AT Yaeh 3TeTel |

Ih TafFiee FUAl SIRT ScdTiad <Iar sl F&AT Hl 2T &

0 2015 2016 2017 2018

HFETAT A YEHTET B

a¥ 2015 # F9ar-A gary fafda &&r $r gear 3 av¥ 2018
H SYar-B earT AT T shr T&aT FT FAM: e[ F4T AT?

Options:

1. = 1:3
2. % 3:5
2
8

3. % 4
4. v 9 :

Question Number : 119 Question Id : 54592729207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following line graph carefully to answer the
questions.

Line graph shows the number of refrigerator produced by a
company in the different years.

/w

2010 2011 2012 2013 2014 2015
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What was the percentage increases in the number of
refrigerator manufactured by the company A in year 2014 as
compared to the previous year?

Options:

1. = 11.11 percent
2. v 9.09 percent
3. % 12.5 percent
4. = 15 percent

Question Number : 119 Question Id : 54592729207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fAFTTT=T weal &7 3ca 3ot & foIv foesilaf@a ame &1
AT Yaeh 3TeTel |

el IATH Affear ot & frely shuell ZarT Icurfea IpeRex
T HEAT T AT T

140
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L=

Le)
L=}

FA IeIRA (FH)
g

L
[=]

2010 2011 2012 2013 2014 2015

Rrsdt af 1 qee # a¥ 2014 F Fue ganT AT M
B e # free whree B 3R g8

Options:

1. = 11.11 wfdea
2. v 9.09 gfaerd
3. = 12.5 ufdera
4. = 15 yferd

Question Number : 120 Question 1d : 54592729208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer the questions.
The following graph represents the number of Laptops
produced by a company in the different years.
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If the cost of manufacturing one Laptop in the year 2010 was
Rs. 15,000, then what was the total expenditure of company B
for manufacturing all the Laptops in the same year?

Options:

1. = 70 crore.
2. % 55 crore.
3. = 60 crore.
4. v 90 crore.

Question Number : 120 Question Id : 54592729208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT T=T weal &7 3ca 3ot & TolT AMF T AT qa+h
eI F|

faeafaf@a amr faffies avt & AT Fuar garT cufea
AUCTT T TEAT T g2ATAT &

2010 2011 2012 2013 2014

100

FeaTgeT (5T )
& 8 B8

hel

L)
Pl
=

=

Ife a¥ 2010 & v ueiT & faATor Fr aerg 5.15,000 o, ar
34T ¥ J9SiT Sellet H FUal Fo T T 2T

Options:

1. % 70 8
2. % 55 &8
3. « 60 HUS
4. v 90 FUT
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Question Number : 121 Question Id : 54592729209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

The clownfish can live for at least 30 years, it will be
important to understand if the fish can adapt on light.

Options:

1. = The clownfish can live

2. = at least 30 years,

3. = it will be important

4. v the fish can adapt on light.

Question Number : 121 Question Id : 54592729209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

The clownfish can live for at least 30 years, it will be

iImportant to understand If the fish can adapt on light.

Options:

1. = The clownfish can live
2. » at least 30 years,
3. = 1t will be important

4, v the fish can adapt on light.

Question Number : 122 Question Id : 54592729210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

To protect the planet and coffee producing, Nespresso is
battling climate change from the ground up by planting
millions of trees.

Options:

1. = To protect the planet
2. v and coffee producing,



3. » Nespresso Is battling climate change
4. = by planting millions of trees.

Question Number : 122 Question Id : 54592729210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

To protect the planet and coffee producing, Nespresso is
battling climate change from the ground up by planting

millions of trees.

Options:

1. = To protect the planet
2. v and coffee producing,
3. * Nespresso I1s battling climate change

4. = by planting millions of trees.

Question Number : 123 Question Id : 54592729211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the segment in the sentence which contains the
grammatical error from the given options.

Plagued by mechanical and construction issues, none of the
ships actually make it to Europe during the second world war.

Options:

1. = Plagued by mechanical and construction
2. = none of the ships

3. v actually make it to Europe

4, = during the second world war.

Question Number : 123 Question Id : 54592729211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

Plagued by mechanical and construction issues, none of the
ships actually make 1t to Europe during the second world

war.

Options:

1. = Plagued by mechanical and construction
2. * none of the ships

3. v actually make it to Europe



4. = during the second world war.

Question Number : 124 Question Id : 54592729212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Mallows Bay already is a popular tourist spot, where visitors
can kayak through shipwrecks and observe an array of
wildlife.

Options:

1. v Mallows Bay already is a

2. = popular tourist spot,

3. = where visitors can kayak

4. = observe an array of wildlife.

Question Number : 124 Question 1d : 54592729212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

Mallows Bay already is a popular tourist spot, where visitors
can kayak through shipwrecks and observe an array of

wildlife.

Options:

1. v Mallows Bay already is a
2. % popular tourist spot,

3. » where visitors can kayak
4

. ® observe an array of wildlife.

Question Number : 125 Question 1d : 54592729213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

After months of grueling training, the first Emirati astronaut
will soon blast-off for a historic mission aboard International
Space Station.

Options:

1. = After months of
2. = astronaut will soon bhlast-off



3. » historic mission aboard
4. v International Space Station.

Question Number : 125 Question Id : 54592729213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

After months of grueling training, the first Emirati astronaut
will soon blast-off for a historic mission aboard International

Space Station.

Options:

1. = After months of
2. = astronaut will soon blast-off
3. % historic mission aboard

4. v International Space Station.

Question Number : 126 Question 1d : 54592729214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The illegal wildlife trade is a multibillion dollar criminal
enterprise.

Options:

1. = multibillion dollar enterprise.

2. » multibillion dollar enterprise criminal
3. » multibillion enterprise dollar criminal
4. v No substitution required

Question Number : 126 Question 1d : 54592729214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

The illegal wildlife trade 1s a multibillion dollar criminal

enterprise.

Options:

1. = multibillion dollar enterprise.
2. = multibillion dollar enterprise criminal

3. = multibillion enterprise dollar criminal



4. v No substitution required

Question Number : 127 Question Id : 54592729215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

There’s no bad season to visit Versailles, but its extensive
gardens are at its best in spring and summer.

Options:

1. = is at its best

2. v are at their best
3. = 18 at their best
4. = No substitution

Question Number : 127 Question 1d : 54592729215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

There’s no bad season to visit Versailles, but its extensive

gardens are at its best in spring and summer.

Options:



1. = I1s at Its best

2. v are at their best
3. = Is at their best
4. = No substitution

Question Number : 128 Question Id : 54592729216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Peru is a world leader in laws and policies that supported
used natural ecosystems.

Options:

1. * which supporting used
2. = that supported use

3. v that support using

4. = No substitution required

Question Number : 128 Question 1d : 54592729216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

Peru i1s a world leader in laws and policies that supported

used natural ecosystems.

Options:

1. = which supporting used
2. % that supported use
3. v that support using

4. = No substitution required

Question Number : 129 Question Id : 54592729217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Diabetes is a disorder of carbohydrate metabolism whose
earliest known documentation appears in an Egyptian text.

Options:

1. * who early know

2. = whose earlier knew

3. » which early known

4. v No substitution required



Question Number : 129 Question Id : 54592729217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

Diabetes 1s a disorder of carbohydrate metabolism whose

earliest known documentation appears in an Egyptian text.

Options:

1. = who early know

2. * whose earlier knew

3. ® which early known

4. v No substitution required

Question Number : 130 Question Id : 54592729218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

In recent decades, researchers have refined and honed insulin
to make it more stable, longer-lasting, and easier to inject.

Options:

1. » has refine and hone
2. * have refine and hone
3. = has refined and honed



4. v No substitution required

Question Number : 130 Question Id : 54592729218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

In recent decades, researchers have refined and honed

iInsulin to make 1t more stable, longer-lasting, and easier to

Inject.

Options:

1. = has refine and hone
2. = have refine and hone
3. = has refined and honed

4, v No substitution required

Question Number : 131 Question 1d : 54592729219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Zebra fish, seem to experience sleep cycles that are similar
sleep in humans.

Options:

1. v 10
2. % of
3. » with



4, = for

Question Number : 131 Question Id : 54592729219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Zebra fish, seem to experience sleep cycles that are similar

sleep In humans.

Options:

1. ¢ to
2. = of
3. = with
4, = for

Question Number : 132 Question Id : 54592729220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Human beings interact with nature through technology and
create institutions to accelerate economic
development.

Options:

1. = its

2. v their
3. % one’s
4. = there

Question Number : 132 Question 1d : 54592729220 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Human beings interact with nature through technology and

create institutions to accelerate economic

development.

Options:

1. = Its
2. ¢ their
3. % one’s

4. = there

Question Number : 133 Question Id : 54592729221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Indiscriminate exploitation of resources has to global
ecological crises such as, global warming, ozone layer
depletion, environmental pollution and land degradation.

Options:

1. = lead

2. » leads
3. vled

4. = leading

Question Number : 133 Question Id : 54592729221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Indiscriminate exploitation of resources has to

global ecological crises such as, global warming, ozone

layer depletion, environmental pollution and land degradation.

Options:

1. = lead
2. = |leads
3. v led

4. = |eading

Question Number : 134 Question Id : 54592729222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

There are many regions in our country that are rich in
resources these are included in economically
backward regions.

Options:

1. » and
2. » since
3. = for
4. v but



Question Number : 134 Question Id : 54592729222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

There are many regions Iin our country that are rich In

resources these are included in economically

backward regions.

Options:

1. = and
2. % since
3. = for
4. v but

Question Number : 135 Question Id : 54592729223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The world’s land mammal, the cheetah, is a unique
and specialized member of the cat family and can move at the
speed of 112 km. /hr.

Options:

1. v fastest
2. « faster
3. = fast



4. = more faster

Question Number : 135 Question Id : 54592729223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The world’s land mammal, the cheetah, 1s a

unique and specialized member of the cat family and can

move at the speed of 112 km. /hr.

Options:

1. v fastest
2. % faster
3. = fast

4. = more faster

Question Number : 136 Question Id : 54592729224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Three-fourth of the earth’s surface is covered with water, but
only a small proportion of it accounts freshwater that
can be put to use.

Options:

1. = of
2. v for



3. = with
4. = 1o

Question Number : 136 Question Id : 54592729224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Three-fourth of the earth’s surface iIs covered with water,

but only a small proportion of it accounts

freshwater that can be put to use.

Options:

1. = of
2. v for
3. = with
4. % 10

Question Number : 137 Question 1d : 54592729225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The floods have not only devastated life and property
caused extensive soil erosion.

Options:

1. = but
2. = and



3. v but also
4, = and also

Question Number : 137 Question Id : 54592729225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The floods have not only devastated life and property

caused extensive soll erosion.

Options:

1. = but
2. % and
3. ¢ but also

4. = and also

Question Number : 138 Question Id : 54592729226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

food grains, agriculture also produces raw material
for various industries.

Options:

1. = Beside

2. » In addition
3. = Alternatively
4. v Besides



Question Number : 138 Question 1d : 54592729226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

food grains, agriculture also produces raw

material for various industries.

Options:

1. = Beside
2. = In addition
3. = Alternatively

4. v Besides

Question Number : 139 Question Id : 54592729227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: Our morning cup of coffee is on the brink of extinction.

B: This is due to worsening climatic conditions, deforestation,
and the spread of fungal pathogens and pests.

C: According to a 2019 report, 60 percent of all wild coffee
species could disappear in the coming decades.

D: Climate change alone, experts predict, could cut the land
sultable for Arabica coffee production in half by 2050.

Options:

1. v ACBD
2. » ABDC
3. = ADCA
4. = ACDB

Question Number : 139 Question Id : 54592729227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: Our morning cup of coffee is on the brink of extinction.

B: This 1s due to worsening climatic conditions,

deforestation, and the spread of fungal pathogens and pests.

C: According to a 2019 report, 60 percent of all wild coffee

species could disappear in the coming decades.

D: Climate change alone, experts predict, could cut the land

suitable for Arabica coffee production in half by 2050.

Options:

1. v ACBD
2. = ABDC
3. = ADCA
4. = ACDB

Question Number : 140 Question 1d : 54592729228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A: not come under the categories of novel,
B: Non-fiction is virtually everything that
C: short story, play or poem.

D: we read as literature but that does

Options:

1. = BADC
2. v BDAC
3. = BCAD
4. = BDCA

Question Number : 140 Question 1d : 54592729228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: not come under the categories of novel,

B: Non-fiction i1s virtually everything that

C: short story, play or poem.

D: we read as literature but that does

Options:
1. = BADC
2. v BDAC
3. = BCAD
4. = BDCA
General English2
Group Number : 8
Group Id: 5459271448
Group Maximum Duration : 0
Group Minimum Duration : 0
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592729229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: They can track up to 13,000 years of history using tree ring
chronologies for over 4,000 sites on six continents.

B: Dendrochronology, the scientific method of studying tree
rings, can pinpoint the age of archaeological sites.

C: Originally developed for climate science, the method is now
an invaluable tool for archaeologists.

D: Archaeologists have a group of allies: trees.

Options:

1. = DACB
2.« DCBA
3. v DBCA



4. » DBAC

Question Number : 141 Question Id : 54592729229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: They can track up to 13,000 years of history using tree

ring chronologies for over 4,000 sites on six continents.

B: Dendrochronology, the scientific method of studying tree

rings, can pinpoint the age of archaeological sites.

C: Orniginally developed for climate science, the method Is

now an Invaluable tool for archaeologists.

D: Archaeologists have a group of allies: trees.

Options:

1. = DACB
2. » DCBA
3. v DBCA
4. = DBAC

Question Number : 142 Question Id : 54592729230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the synonym of the given word.

Candid

Options:

1. v Frank
2. » Meagre
3. = Absurd
4. = Urban

Question Number : 142 Question Id : 54592729230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Candid

Options:

1. v Frank
2. = Meagre
3. = Absurd
4. = Urban

Question Number : 143 Question Id : 54592729231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Suspicious

Options:

1. « Enslave



2. v Credible
3. » Impatient
4. = Dwindle

Question Number : 143 Question Id : 54592729231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Suspicious

Options:

1. = Enslave
2. v Credible
3. # Impatient

4. = Dwindle

Question Number : 144 Question Id : 54592729232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Lethargic

Options:

1. = Vigorous

2. = Poise

3. v Inactive

4. = Accomplish

Question Number : 144 Question Id : 54592729232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the synonym of the given word.

Lethargic

Options:

1. = Vigorous
2. = Poise
3. ¢ |nactive

4. = Accomplish

Question Number : 145 Question Id : 54592729233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Compliant

Options:

1. v Defiant

2. » Mistrust
3. = Discrete
4. = Tolerant

Question Number : 145 Question Id : 54592729233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Compliant

Options:



1. v Defiant
2. = Mistrust
3. = Discrete
4. = Tolerant

Question Number : 146 Question Id : 54592729234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Reproach

Options:

1. * Numerous
2. v Disapprove
3. # Plentiful

4. = Complicated

Question Number : 146 Question Id : 54592729234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Reproach

Options:

1. = Numerous
2. v Disapprove

3. = Plentiful
4, = Complicated



Question Number : 147 Question 1d : 54592729235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Erronoeus
2. » Endorse
3. = Restrict
4. » Humiliate

Question Number : 147 Question Id : 54592729235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Erronoeus
2. = Endorse
3. = Restrict

4. = Humiliate

Question Number : 148 Question 1d : 54592729236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Improbable
2. v Longlvity



3. = Decamp
4. = Recluse

Question Number : 148 Question Id : 54592729236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Improbable
2. v Longivity
3. » Decamp

4. = Recluse

Question Number : 149 Question Id : 54592729237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = EXtort

2. » Lethargy
3. v Exijent
4. = Disclose

Question Number : 149 Question 1d : 54592729237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.



Options:

1. = Extort
2. % |Lethargy
3. v Exijent
4. = Disclose

Question Number : 150 Question Id : 54592729238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Wild goose chase

Options:

1. v A chase for something difficult
2. = [llegal supply of wild animals
3. = To follow in footsteps

4. = A lost opportunity

Question Number : 150 Question Id : 54592729238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Wild goose chase

Options:

1. v A chase for something difficult
2. % lllegal supply of wild animals

3. » To follow In footsteps



4. = A lost opportunity

Question Number : 151 Question Id : 54592729239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

The apple of one’s eye

Options:

1. = Centre of attraction

2. v A cherished person

3. » A dream to follow

4. = To overlook shortcomings

Question Number : 151 Question Id : 54592729239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

The apple of one’s eye

Options:

1. = Centre of attraction
2. v A cherished person
3. ¥ A dream to follow

4. = To overlook shortcomings

Question Number : 152 Question Id : 54592729240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

Fight tooth and nail

Options:

1. * To be unwilling

2. = Lacking in strength

3. v To compete with intensity

4. = To dispute over a small issue

Question Number : 152 Question Id : 54592729240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Fight tooth and nalil

Options:

1. * To be unwilling
2. = Lacking In strength
3. v To compete with intensity

4. = To dispute over a small Issue

Question Number : 153 Question Id : 54592729241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A person who draws or produces maps.

Options:



1. v Cartographer
2. » Chauffeur

3. = Choreographer
4. = Calligrapher

Question Number : 153 Question Id : 54592729241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A person who draws or produces maps.

Options:

1. v Cartographer
2. = Chauffeur

3. » Choreographer
4. = Calligrapher

Question Number : 154 Question Id : 54592729242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
givern.

A group of people assembled for religious worship.

Options:

1. = Devotee
2. v Congregation
3. =« Caravan



4, « Hamlet

Question Number : 154 Question Id : 54592729242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A group of people assembled for religious worship.

Options:

1. = Devotee
2. v Congregation
3. = Caravan

4. = Hamlet

Question Number : 155 Question Id : 54592729243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
givern.

An alphabetical list of words relating to a specific subject

Options:

1. = Preface

2. = Bibliography
3. v Glossary

4. = Appendix

Question Number : 155 Question 1d : 54592729243 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

An alphabetical list of words relating to a specific subject

Options:

1. = Preface

2. % Bibliography

3. v Glossary

4. = Appendix
Sub-Section Number: 2
Sub-Section Id: 5459271737
Question Shuffling Allowed : Yes

Question Id : 54592729244 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Answer the questions hased on the following passage.

Global police customs officials have concluded the most
widespread environmental crime operation ever organized,
involving 109 countries and resulting in nearly 2,000 seizures
of protected wildlife, including 440 ivory pieces, more than
4,300 birds, and nearly 10,000 live turtles and tortoises,
according to Interpol.

The effort, coordinated by Interpol and the World Customs
Organization (WCO), identified nearly 600 suspects and
spurred arrests around the world. Dubbed Operation
Thunder ball, it’s the third in a series —Interpol executed
Operation Thunderhird in 2017 and Operation Thunderstorm
in 2018, both of which targeted the illegal wildlife and timber
trade and resulted in thousands of seizures.

The illegal wildlife trade is a multibillion dollar criminal
enterprise. It’s the primary threat to the survival of nhumerous
species, including African elephants, which are targeted for
their ivory; pangolins, which are targeted for use in
traditional Chinese medicine, and many species of hirds and
reptiles, which enter the exotic pet trade. Wildlife crime is
linked to corruption, money laundering, and other forms of
organized crime.

Wildlife crime has spiked in recent years, which is why
Interpol and the WCO decided to join forces, says Roux Raath,
WCO’s environment program manager. “The demand for
wildlife preducts is increasing, the world population is
increasing,” he says.

The operation focused on identifying trafficking routes and
crime hot spots ahead of time, with the aim of preventing
wildlife crime from occurring. “When we start working, most
of the time, it’s too late in terms of conservation,” says Henri
Fournel, Interpol’s coordinatoer of environmental security.
“We just want to make it clear to the criminals that...we are
just watching them.”

Operation Thunder ball is “not a numbers game,” says the
WCO’s Raath. The number of seizures has gone down over the
years, which means law enforcement efforts are leading to
the “dismantling of criminal networks,” he says.

“If we keep the pressure on and if we clamp down on specific
routes and specific countries,” Raath says, “that forces
criminals to either look at different commodities or either
different countries, different routes....It's changing the
patterns.”

This is the key to dealing with wildlife crime, says Susan
Lieberman, vice president of international policy for the New
York-based Wildlife Conservation Society—it’s about targeting
the “criminal networks that are driving this horrendous
crime,” not individuals. She says its “fantastic” that Interpol
and the WCO are aiming to disrupt criminal networks, and to
be most effective, the countries have to follow up with
prosecutions.

“A lot of times we see seizures, and then nothing happens,”
she says. “People have to go to jail, particularly the people
running these networks—the spider in the centre of the web.”



Sub questions

Question Number : 156 Question Id : 54592729245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage what 1s the key to dealing with
wildlife crime?

Options:

1. v It’'s about targeting the criminal network rather than
individuals.

2. = Increase in the quantum of punishment
3. » Enforcement of law and order situations
4. = Reframing of criminal laws.

Question Number : 157 Question Id : 54592729246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following operation is assoclated with illegal
wildlife and timber trade?

Options:

1. = Operation Thunderbird

2. v Operation thunderbird & operation thunderstorm
3. » Operation Thunderstorm

4. = Operation thunder ball

Question Number : 158 Question Id : 54592729247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What led the Interpol and the WCO to come together and join
hands in operation?

Options:



1. = The illegal wildlife trade is a multibillion dollar criminal
enterprise.

2. = Survival of numerous species
3. v Wildlife crime has spiked in recent years
4. = Exotic pet trade

Question Number : 159 Question 1d : 54592729248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The illegal wildlife trade is related to all of the following
except:

Options:

1. = African elephants
2. = Pangolins

3. = Birds & Reptiles
4. v Timber trade

Question Number : 160 Question Id : 54592729249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The subject matter of the given passage is one of the following
options:

Options:

1. v Wildlife crime

2. = Operation Thunderstorm

3. * World Customs Organization
4. = Environmental Security.

Question Id : 54592729244 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Answer the questions based on the following passage.

Global police customs officials have concluded the most
widespread environmental crime operation ever organized,
involving 109 countries and resulting in nearly 2,000
seizures of protected wildlife, including 440 ivory pieces,
more than 4,300 birds, and nearly 10,000 live turtles and

tortoises, according to Interpol.

The effort, coordinated by Interpol and the World Customs
Organization (WCQO), identified nearly 600 suspects and
spurred arrests around the world. Dubbed Operation
Thunder ball, it’s the third in a series —Interpol executed
Operation Thunderbird in 2017 and Operation Thunderstorm
in 2018, both of which targeted the illegal wildlife and

timber trade and resulted in thousands of seizures.

The illegal wildlife trade is a multibillion dellar criminal
enterprise. It's the primary threat to the survival of
numerous species, including African elephants, which are
targeted for their ivory; pangolins, which are targeted for
use in traditional Chinese medicine, and many species of
birds and reptiles, which enter the exotic pet trade. Wildlife
crime is linked to corruption, money laundering, and other

forms of organized crime.

Wildlife crime has spiked in recent years, which is why
Interpol and the WCO decided to join forces, says Roux
Raath, WCO’s environment program manager. “The demand
for wildlife products is increasing, the world population is
increasing,” he says.

The operation focused on identifying trafficking routes and
crime hot spots ahead of time, with the aim of preventing
wildlife crime from occurring. “When we start working, most
of the time, it’s too late in terms of conservation,” says
Henri Fournel, Interpol’s coordinator of environmental
security. “We just want to make it clear to the criminals
that.we are just watching them.”

Operation Thunder ball is “not a numbers game,” says the
WCQ’s Raath. The number of seizures has gone down over
the years, which means law enforcement efforts are leading

to the “dismantling of criminal networks,” he says.

“If we keep the pressure on and if we clamp down on
specific routes and specific countries,” Raath says, “that
forces criminals to either look at different commeodities or
either different countries, different routes...lt’s changing the

patterns.”

This is the key to dealing with wildlife crime, says Susan
Lieberman, vice president of international policy for the New
York-based Wildlife Conservation Society—it's about targeting
the “criminal networks that are driving this horrendous
crime,” not individuals. She says its “fantastic” that Interpol
and the WCO are aiming to disrupt criminal networks, and
to be most effective, the countries have to follow up with

prosecutions.

“A lot of times we see seizures, and then nothing happens,”
she says. “People have to go to jail, particularly the people

running these networks—the spider in the centre of the web.”



Sub questions

Question Number : 156 Question Id : 54592729245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage what I1s the key to dealing with

wildlife crime?

Options:

1. v It's about targeting the criminal network rather than

individuals.
2. ® Increase In the quantum of punishment
3. = Enforcement of law and order situations

4, = Reframing of criminal laws.

Question Number : 157 Question 1d : 54592729246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following operation is associated with illegal

wildlife and timber trade?

Options:

1. = Operation Thunderbird
2. v Operation thunderbird & operation thunderstorm
3. #» Operation Thunderstorm

4. = QOperation thunder ball

Question Number : 158 Question Id : 54592729247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What led the Interpol and the WCO to come together and

join hands in operation?

Options:

1. = The illegal wildlife trade 1s a multibillion dollar criminal

enterprise.
2. % Survival of numerous species
3. v Wildlife crime has spiked In recent years

4. = Exotic pet trade

Question Number : 159 Question Id : 54592729248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The illegal wildlife trade I1s related to all of the following

except:

Options:

1. = African elephants
2. = Pangolins

3. = Birds & Reptiles
4. v Timber trade

Question Number : 160 Question 1d : 54592729249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The subject matter of the given passage is one of the

following options:

Options:



1. v Wildlife crime

2. = QOperation Thunderstorm
3. = World Customs Organization
4

. * Environmental Security.
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Question Number : 161 Question 1d : 54592729250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TOT T BIEY TS 2-

Options:

1. * geX
2. % g



3. v gu
4, = g

-,

Question Number : 161 Question Id : 54592729250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTYT kT T DI ThIs &-

Options:

1. = &Y
2. % TIolal
3. v guT
4. = egfal

Question Number : 162 Question Id : 54592729251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3mefiere, @r ggt dhe-fa<we 8-

Options:

1. = 3T+ gl
2. v 3M9T: + T
3. = 3T + T
4, = MU + GTE

Question Number : 162 Question Id : 54592729251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jreftarg 1 @ar dfd-idwss &-

Options:

1. = 3R+ arg
2. v 3ei + dig
3. = 3meff + ag
4. = 3N + 9T

Question Number : 163 Question 1d : 54592729252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U TG A DI §-

Options:

1. v 3U[Sh
2. * TTRETCE
3. * TS
4. » I

Question Number : 163 Question Id : 54592729252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3uel IEd oeg Hia-aT &-

Options:

1. v &USeh

 —

2. » [oIedeca
3. % AT
4. = TG

Question Number : 164 Question 1d : 54592729253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"TPSERT UG H DI-HT T(IT §-

Options:

1. * DD YT
2. % pd UG

3. v digd Tqdd
4, » AT U@L

Question Number : 164 Question Id : 54592729253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ThSENT g H hiel-AT TcIT &-

Options:

1. = heh U

2. * hd U3



3. v dl&d T3
4. » T Ucad

Question Number : 165 Question 1d : 54592729254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oI AT & &I UC, 3TTUTT gid &, g1 UX HI-97 GATY EIdT &-

Options:

1. * Zg
2. % a1

3. * AqgET
4. v Igeilig

Question Number : 165 Question 1d : 54592729254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g A & Tl U VT &id &, J8l 9 hid-ar AT
BIdT &-

Options:

1. » gdecd
2. % fagdr

SO

3.« TFCqEY

4. v ESE

s

Question Number : 166 Question 1d : 54592729255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"3Te[UEG DR’ T TeloT I e &
Options:

1. » ATIEGID

2. v 95Ugdd

3. * AEEEI®

4. » aTgeEa

Question Number : 166 Question Id : 54592729255 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

'HeUHETH HT GollH e &-

Options:

1. = 3aOaETH

2. v GEHGTH
P |

3. = HAZEGEIS

4, % FEeT

O

Question Number : 167 Question Id : 54592729256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

chelel T ST BT &l HlTelh YTAT T g1 Y GehdTl

Options:

1. = 3MY
2. v AW

3. * UIgW
4. U

Question Number : 167 Question Id : 54592729256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shadl g{-dcﬁm FATeT BTAT hl AlTorer UTTHT FT GRINCTY
HehdT|

Options:

1. % 3THAY
2. v 3e8AY
3. % 4y

4. = TG

Question Number : 168 Question Id : 54592729257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG & Teelid SEE, -

Options:



1. v ¥qay

2. % qgel
3. * QYT
4, = UL

Question Number : 168 Question Id : 54592729257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qqIeT T faeld eleg &-

Options:

1. v UcT&T
% E2el

2. % T
3. * gtceyg
4. % 3TOTreT

Question Number : 169 Question Id : 54592729258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T & g 3TTereh HeT ST DHgelldT g-

Options:

1. v ATQITATT
2. % ATLATATT
3. * AT
4. » YT

Question Number : 169 Question Id : 54592729258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3rer 4@ SRE] O TR AT FeaTdr &-

Options:

1. v 3Temdia
2. % 3TeTdTlel
3. % 37T




4. = FgcATET

Question Number : 170 Question Id : 54592729259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TehdiT o UTE THT Y i a4 Pgoelldl g-

1. = Tadl
2. % Ul
3. v oTdr
4. % aider

Question Number : 170 Question Id : 54592729259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foreiT & o THT gAY T T Felrdr g

Options:

1. = oadf
2. = FOIAT
3. v oTar
4, = afdepr

Question Number : 171 Question 1d : 54592729260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT &l TIIgeTil 9E, 8-

Options:

1. » TR
2. % Glel

3, * A
4, v TATEt

Question Number : 171 Question 1d : 54592729260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AP T GATIART s §-

Options:




ol
#®

v oTIarr

Question Number : 172 Question 1d : 54592729261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATer@d # & DIT-9T T[E Jiell 3-

Options:

1. v U

2. % G&xar
3. » g@dr
4, » ™er

Question Number : 172 Question Id : 54592729261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feleattorad # & hia-ar erea qlelar &-

Options:

1. v FYC
2. % Hoaldl
3.« agda
4 B

Question Number : 173 Question Id : 54592729262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # TeU 7 e aR ferpe(ul & & 3rGTd (S0eT) SEE BT adT B

Options:

1. * SITqESAT
2. # qATeeAT

3. % @




4, v qraf

Question Number : 173 Question 1d : 54592729262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7ol H 6T 90 Ucdsh I [Qehedl & & 3709 (FH) 206G ohl
T Fi|
Options:

1. = 3TcHST
2. % dfegall
3. ® FhedTl
4. v AT

Question Number : 174 Question Id : 54592729263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATer@d # ¥ SIv-9T Ueh ZIH GHHTLT &-

Options:

1. v IATAT-TAA
2. % TET-3ITRTT
3. » gR-iE
4, » G-I

Question Number : 174 Question 1d : 54592729263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feiFaifel@d H & FI-AT Teh JIA FATTLT &-

Options:

1. v TYIT-ATe

2. % FAET-3ThTeT
3. = d-HI&
4. = F-Sare

Question Number : 175 Question Id : 54592729264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TS &7 T et UeC 3-

Options:

1. » TOQM=T
2. v AT
3. = dIg=T
4, = SSAA

Question Number : 175 Question Id : 54592729264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foerar' =1 oATgaT=T oree &-

Options:

1. » oo
2. v LWEA@EN
3. % GrHar
4.

Question Number : 176 Question 1d : 54592729265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i 1 g2 3 ‘o T

1. # AT

2. v Qlei
3. % gD ol 1m
4, % 39 felm

Question Number : 176 Question Id : 54592729265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foler T 2o @ 'ad a1 §-

1. = TATTolaT
Q.JW



S.QW%
4. = 397 TolaT

Question Number : 177 Question 1d : 54592729266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STH I 3Tt el SI=-4T g-

Options:

1. = &I
2. % AT
3. v &g
4, « og

Question Number : 177 Question 1d : 54592729266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SaH 8 3ffereTuarder HaelTH hiel-aT &-

Options:

1. = i
2. % S

4. = TG
Question Number : 178 Question Id : 54592729267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

WA LI, T g g-

Options:

1. « IRAIT
2. v "Il
3. * gRIqen
4. » qRIAAT

Question Number : 178 Question Id : 54592729267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AR eTeg T TEII &-

Options:

1. » ARAR
2. v ARAE™T
3. * HRTa
4, » FARTAAT

Question Number : 179 Question 1d : 54592729268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A U H -4t G=iT 8-

Options:

1. = SATdaTAD I

2. % ggTchelTee G

3. v YTadTd Y1
4, = SgIATID Gl

Question Number : 179 Question 1d : 54592729268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tilcd’ elsg H hiel-dl AT &-

Options:

1. = SMTddIF a1

2. » TYladardess T

3. v HGdaIs g

4. » gegdRIh Ol

Question Number : 180 Question Id : 54592729269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS <Te[C, T Te<Iuur BT g-

Options:

1. v UTSTAI®
2. % T



Question Number : 180 Question Id : 54592729269 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

gl erse T TARINUT ST B-

Options:

1. v YTeIdeh
2. # eed

3. = gemEfd
4

. % TRIAT

s
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592729270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JerdIcIE = gl Tdh TavTerenTer # AUZ i i WIT gl SATdT 3-

Options:

1. » GTER TRy
2. % Gl dIpd

3. * 9gd a1Hd
4. v Y a1pg

Question Number : 181 Question Id : 54592729270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JerHieTd o el foh faeersrer # A 7 dfg e 81 Sfrdr -

Options:

1. = HTIROT dIiay

2. » Glel Iy

3. % {-i*’:-ljci'd CIER?

4. v T8 g

Question Number : 182 Question Id : 54592729271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel T # § eTchd T Y T AT AT D

Options:

e
2. % 390 UH [T 8

3. v TR TR T 3

4, % JAH TP YT 3

Question Number : 182 Question Id : 54592729271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFIleli®T & & g <l A€ T FT TG -

Options:




e
* 3o Uh T §-

M
* 3olehl Ush UF &

v 3T Th T3 &

ol

Y
% 3olch Teh T3 Y

Question Number : 183 Question 1d : 54592729272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T # & a1 & 8 & DIT-4T U I &

1. » Sfiudh
2. % SfUd
3. v SiY®
4. » Ud

Question Number : 183 Question Id : 54592729272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d A & adar $T T d FIT-AT U UG &-

Options:

1. = efi¥en
2. % <ffyeR
3. v ¥R
4. = ey

Question Number : 184 Question Id : 54592729273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARUTE T T T68T T eThd H 8 "I I-9T PR g-

Options:
1. = 3T
2. v ITUHT

3. * TS




4. T

Question Number : 184 Question 1d : 54592729273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS T del 96T SelT areFg & # '9¢ Fid-9T FH &-

Options:

1. = 3YTETA
2. v 3T IRIoT

3. ® FHCT
4. » TFEY

Question Number : 185 Question Id : 54592729274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LY Y T
TSTgeRT WO AT Do gl 39 Dhgd &-

Options:

1. = ATYEAIT
2. % CHAT

3. v Y
4. = el

Question Number : 185 Question Id : 54592729274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fSIgehT UHeel LT Ficed ar 38 Fad o-

Options:

1.w3ﬂ§l?—|’rsr
2. % TFEHAT

S.J?RT?II'
4. = FareT

Question Number : 186 Question Id : 54592729275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(ol +
RUTT A &-




Options:

1. 9,8, 3,9
2.v2,3,8,G
35T, A, o
A =T, T, 9

Question Number : 186 Question Id : 54592729275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I STotel §-
a
Options:

1. = =, &, o, o
2. v ¢, 85,8, &
3.+, U, T, U
4. « T, B, &, H

Question Number : 187 Question 1d : 54592729276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G, TP DT AT hiTIT-

Options:

1. » 3& MY @

2. v HISTT agd TYC AT

3. * UqSil el UTBYJd UL "EUNERT Bid He # &F MM
4. » T dT AT gl T

Question Number : 187 Question 1d : 54592729276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Q;I,ﬁ greFg T el hlTolU-

Options:

1. = 3a THSCTeel TEXIETI
2. v 9T ey IS 2|
3. # Ocall $I 9Eaqfd o 'SAERT Fid #c H & =T




4, = 3T A& 3ededid al |

Question Number : 188 Question Id : 54592729277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

&I & dgl di- UTd BT BT 37 3-

Options:

1. * IETYh TG

2. v o] Udh 9]

3. * ITUCHT TTH FEAT
4. * €T 1

Question Number : 188 Question Id : 54592729277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STk & TET dlel T BlaT a1 37 &-

Options:

1. = e-lrw-ljch T

2. v gl Tah HI

3. % 3TYCTIT hTH FI]

4, = 31::1@4 Solall

Question Number : 189 Question 1d : 54592729278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT TSl H PIRT GIHT BT 3N 3-

Options:

1. = PrH T HIAT
2. * DIH JATYT D]
3. * @ QT T AT
4, v DTH 7 ST

Question Number : 189 Question 1d : 54592729278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTH FToT H PRI T hT 37T 8-

Options:




1. # hIH of LAl

2. ® hIH GHATCT hiddl

3. % <hlH OIT =T “hel

4. v hIH o Slaldl

Question Number : 190 Question Id : 54592729279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & BT BAAT TgTa Bl 37 3-

Options:

1. * STeITd® il
2. % A G
3. * qIEAD Il

4, v ITelld gl

Question Number : 190 Question Id : 54592729279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & el halal HBEL FT 3T &-

Options:

Hy
1. = STelldh Bledl

2. = STHST gl

3. = ATEdeh @lal

y
4. v dTelleh ldl

Question Number : 191 Question Id : 54592729280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STgT SR Told Y 3f<r ot ek Hf UTch § TATeIq SIgraT 4T gl gl
Favg T WA fehdT STaT 3l

Options:

1. v TI%Ith A g
2. % AR g
3. gH U g




4, » GYU FIg

Question Number : 191 Question 1d : 54592729280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l FUT Told 31T 3797 T o =hl 9ied A JUTEd 8= =
ar ggr RIeg T TAET T ST &

Options:

1. v ga'lhm:d eI Res

x AR og

2.
3. » &9 Ug s
4, « &89 g

Question Number : 192 Question Id : 54592729281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgPpd AT H TH AThT DT MRAW 3, UG, UT, T, T 4T,

FGTU, i e 3MMie; FIISTh! § I, T g, dF 37eh e

STTT ST 3l

Options:

1. * LATH
2. v TR

,

3. * JUITeH

4. » Fisieh Fo-g
~,

Question Number : 192 Question Id : 54592729281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIFT aToFT H gEY 1T FT INFN 3T, Wed, T, TUT,
fhe o, sﬂﬁm,ﬁ%msﬂﬁmﬁaﬁgmaﬁ
golsh 4 STITTT ST &1

Options:

1. = 3GOUH

2. v 3TcYiadTH




3. = TUIGUH

o,

y i
4, = ISk Hed

Question Number : 193 Question 1d : 54592729282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel 1 ellenlTchal # § TehgenT 37 "Terudid chrd e &-

Options:

1. % ITHT & 3T el U AT Wieh

2. % JoIcl AR DIdeTeT DI BiC

3. v Je[¢ oI sl o
4. » TR AL AU TSI

Question Number : 193 Question 1d : 54592729282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fiFatToTEd eliplforaal # & fohaerr 3127 'TawId SRT e -

1. * 3edT & 3@ AT YA ol Ta
2. * 3¢l T hiddrel sl 3

3. v 3e¢ 919 ol &l

4, » e FAIRT WY TSI

Question Number : 194 Question Id : 54592729283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

qETeI T PIF-9T FY E o-

Options:

1. » e[t & e ol
2. % SeTHIT & el THelTT
3. v @8 ¥ BT [Helr T
4. * Y 9 Bd el

Question Number : 194 Question Id : 54592729283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




HETAY T Hle-TT &7 U &-

Options:

1. = Fedl & e AT
2. % Shed] H hedl THeT
3. v Fed T FedT [T
4. = S H Fed THeIT

Question Number : 195 Question 1d : 54592729284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T U4 @ ATl ared i Hof JASTT HAT 3

Options:

1. * TRITET §iA & el AT SitaT 9Ly &
2. v URTHISAT AWM 3

3. * TCIHT JoId F3T e g

4, % AN G &1 9 &

Question Number : 195 Question 1d : 54592729284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TreTel AYAE & T8l AT kI Hel TG 4T &
P |
Options:

1. = TWIAT gl & Tolv R Siae ey §
2. v Qrefierar 3ferenT §

3. = AT T 3T The &

4. » 3TSET T TIT A §

Sub-Section Number: 2
Sub-Section 1d: 5459271740
Question Shuffling Allowed : Yes

Question Id : 54592729285 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Question Label : Comprehension
THATel R TS el Ugend 1T T TS T IqaT

HITgqd DT ITUR SiTa gl 34T Sl U FIGd chl STel el gidr gl I&eht
3TTTT AT 3N [HEIC 1d g1 elich giaTe ST o A< ool ST Tt gl
Ie & I T SiT T AT e TRATAT 6T T2 g, Thery ey g,
GITH g, 3T AGTCT3T & URIA gl Siter UTATAT I 310 Il DI STelTelcg
g a7 Tel, §H ATeTH Tel, ol WMTeqd af AUd P & Jardcg ¢ 390
ToTq T g ToTdch SUT-SUR ag Tg! gl Gehd Tl ofiche Siter ol S5 &1
3, g1 AU ST T STE Dl G H T gl TehdT @l erg IqGed
# Therar g, Tondt @t W QX U &, Tl ol ofe a1 ward #, Tdt
QeErd #1 elfch FTgd T 31T, 39 S & 33T gl 399 U7 g,
3YPT ATYR G 3T FqF gl aAgdd H e ATE G IR qqT 4
THOTdT g1 IET SITE, el STHTHT, TG ST IAUTT DT FTigad r
I gl UEd IT WHT & SIS # Telli+ DUt gidl g1 39| 3T wl gl
gepd! g, TRITATT Wi g1 FehdT §, T G § I 31[E UTYd §IdT g, ag
3IQU[S g, AT Bl

Sub questions

Question Number : 196 Question Id : 54592729286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jugpd i @I TIT ity

Options:

1. v QGG T G
2. % G 3R T,
3. * QITGIF 3 BT

4. = Siter T ILYT JTE,

Question Number : 197 Question Id : 54592729287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SiTeT 3MTHY g ol ag-

Options:

1. % 3T g



2. % AT g
3. v ULHTIHT DT GIE 3
4. » gy @I MU g

Question Number : 198 Question Id : 54592729288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = Siter U 3TUTIRA &

2. v G 3 G W 3T g
3. * Siter @ ILYT il Iid DT 8
4. » QeEd UITH # G gar g

Question Number : 199 Question Id : 54592729289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l JITE, <l UTTA Bldt -

Options:

1. » Fee JTC <l WA gl 3-

2. % GG el THT &0

3. v 9qF 3R G h WG g
4. » UTATHT h GAIT gRT

Question Number : 200 Question Id : 54592729290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R a1 3 B

Options:
1. = 9
2. % TdhdTd

3. ® HgIPIqT
4. v Stae

Question Id : 54592729285 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Question Label : Comprehension

farafafEa srgzrer w1 gght AT a0 weel T 3cax &

AIEcT T 3TN SdeT ol AT aild 9T GIiged I g &ar
BIcT &1 3WhT 3TTRAT AIAR 3N IFeg Feid g1 olfchel Flagme
fAET & o= &t 98T T g1 3e¢ 3=« &1 ot ST a7gr =mgem|
Sitgel WHATCHT $T gt &, safav garyg &, oA §, 3T
AITETHT & gRfAT &1 9T WHCHT &7 39 SR T SaEeE
& AT «IeT, BH HATeA gl, ofehel Tlfgcd o1 HesT & ATHA
STATSEE & SH [oIU Shlelel & Toldeh SUL-3¥ I§ sial &l Hehll|
el SHdeT T 38T &1 3Telg &1 HAST Sidel Gdcel 3Telec, h
et & BT gl TRAT &Y a8 Toaged H [Fear g, far &1 o
R aRaR A, R FT FF @3 ogel A, FET R Oead A
olfehel TR FT 3Telec 39 3deg & 4T &l 388 UAT §,
3HHT YR el 3N T gl TFAT H Tl 3eleq Foal
I g | Aedar &1 39T 3ieleg Sl SIATeT, del 3eleg 3cded]
FLAT TTECT T 322 &1 VeTd IT 9T & 3elog H Iolllel
fdr aiar &1 39 3R o & dohar g, Tearary ot & gehar
g, W ool T ST 3o Wt EIT &, 98 3TUS &, 3 &

Sub questions

Question Number : 196 Question Id : 54592729286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 oS=F T Tl hIToIT-

Options:

1. v HIacd &I 3Tedex,

2.w§m3ﬂtaﬂaﬁ



3. = Tlecy 3T wiaar
4. = SATgel hT 32T Hdeg

Question Number : 197 Question 1d : 54592729287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sidel 39TFT § Fgifeh dg-

Options:

1. % 3oled &
2. = 3ErT &
3. v UTAICHT $T gfee &
4. = OIgeT T IIN &

Question Number : 198 Question Id : 54592729288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AIecT T oo JTUS §, FIih Tg-

Options:

1. = SiIgel 9T 3TUTRT &

2. v geol 3R T T AT &
3. = Sidel & 30 HT Ifd AT &
4. = Yegd yItd A HETh &IdT &

Question Number : 199 Question Id : 54592729289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

< 3eTed hT WITCT adT &-

Options:

1. = g 3eleg ST UIea gar &-
2. = HNgcT T TIAT ZaN]
3. v T 3N YeeX F TTEchR ZaN]

4. = UTHTCHAT o THAIUT aN]



Question Number : 200 Question 1d : 54592729290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIfgcy T MU &-

Options:

1. = T
2. = TohdTs

. % HEThIY

3
4. v el



